SHAC &EEH

o SR AR EHN
o FEEHEILIRIR
o IR AR IRAH

SERBEIRRERAT

TAIWAN DINGHAN TRANSMISSION TECHNOLOGY CO.,LTD



b

BEEsy

—mBIEmR FTRmREERIS
PERFECT PRODUCTS COME FROM CONSUMMATE PRODUCTION

http:// www.SHAC.tw




A

BRAND POSITIONING

ABESHSHAC  BER=-+—HL&Y  BEIELEHTETZE, HESH , AER
HORA—EWMR, £F, 8. EZNR—BENRARKELE

20076  EARREZRVE—HEES—BENTIEAES K mME K BERKRELIET
ARY  #HARBEARCNEFRKZRE. MERKESE. BBE-RLES.

AETEFNEHERER  201ME  FAEBRERIAELBEHRFZERAR |, €A
EENFBD D,

2013%F , ATRE2100BER (HNE15BTARY )  SMHAIBKTAEREER
ANE], h145000F 5K |, EFRARIEBE., BRMNLEERM,

2, LEEBRBSHACARE, NAEBRBREHNEERATAMBPL, LEKT
AERBEERATNALEEEMMNBARCLECARE,

NAEEBRLUTEERRLGEXBSREEERED , RIFHEEMRIER , K20165F128
ST ISO9001:2008 EEEEMAEE. IS014001:2004RERATEE.
OHSAS18001: 2007 (R ELZ L EERANN., SRR PIXE, FEst, HAH
B £EVEREZ-BNEERFIBER,

AFINEEEEL, EnmiEt, THERA AEEES, LUEFEXR, T#EM,
SHEMBOE  LESEHERATE UBEEWRE'SHACARE KB T REME,
RN EENSHENCEER. AAEREZHEARSESRIRITE  E8IZHEMTE |
ERE M, ERBISHIR, KAARBITHIK, BSXEHE, SRBSIALBEBEEY TR
BENESERR ; TEDRITE  HELE, EaREEXRAQNFARY T REBENSIER
% ERNITE, BAEEY, tRER. S2FBXERRBARERELIRIBENS
ERRR, FRFEEXEIZAEMERY TESEHME , £0MN,. PR, BONtBE1002X
BER .

ATV EER AL B CERE K ATRBRNATERS B BABRATE NS
ERH ] | 22 AR A B RO BB M o

AT “HERTHERETNES AEEES  RABRMEEWE, BTRYERE
B, 6 AZSIENBTHRTEZIBAREG . BRAMABIE, BERERAAE SREE
B, BEE. BRYE SHEBERESE. 2R  FERRAE EEYYNEEBTIAETIE
f,

AERE FRAIZCGHENEE  FIEENERNNED , RRBIREBERNT
B AENHERYE  CHEESEDEERNEHESE0EZ5E,

| et )
: ——e

J .‘l- J;‘ -
8 | H -y
S =

http://Awww.SHAC.tw



I EEFIUERED

SERAR EAHRR IR

AMEEE

l’

-“'IEI

e

FREEE B B0 1%




EIMARE

=3
&1 el
Y

G 397 5z R o= Mk
u.su u;ma#ﬂau% EHIES, ;w:mumun

| 20171 AR mm

%‘:@®.. p

—mt—




fisk: BfH &%

SHAC 153



FHR e o 56 1 D M D 28
RESH

R~ Dimension: (mm)

FLIB
mgg =992 5| | 4|2 |F| el|lelc| r|Dk|lc|m ERAE
He | Hx | Hx |B% (N.M)
I K[ K
JM14 3 7 3|7 14 22.0 7.0 7.0 3.5 8.0 6.0 1.0 Bi# 14 M3 | - 0.7
JM14C 3 6 3 |6 14 22.0 7.0 7.0 3.5 8.0 6.0 1.0 Bi# 17.2 | = M2.5 0.5
JM16 3 7 3|7 16 22.0 7.0 7.0 3.5 8.0 6.0 1.0 Bi# 16 M3 | - 0.7
JM16C 3 T 3|7 16 22.0 7.0 7.0 3.5 8.0 6.0 1.0 Bif 18.2 |- M2.5 0.5
JM20 4 10 4 110 20 30.0 10.0 10.0 5.0 10.0 8.0 1.0 1.2 20 M3 | - 0.7
JM20C 4 10 4 110 20 30.0 10.0 10.0 5.0 10.0 8.0 1.0 12 24 - M3 1.5
JM25 4 12 4 112 25 34.0 11.0 11..0 5.0 12.0 10.0| 1.0 2.0 25 M4 | - 1.7
JM25C 4 12 4 112 25 34.0 11.0 G 5.0 12.0 10.0| 1.0 2.0 26.5 (- M4 1.5
JM30 5 16 5 |16 30 35.0 11.0 11:60 5.0 13.0 10.0| 1.5 2.0 30 M4 | - 17
JM30C 5 16 5 |16 30 35.0 11.0 (| 5.0 13.0 10.0| 1.5 2.0 31.4|- M4 1.7
JM40 8 24 8 |24 40 66.0 25.0 25.0 10.0 16.0 12.0| 2.0 4.0 40 M5 | - 4.0
JM40C 8 24 8 |24 40 66.0 25.0 25.0 1240 16.0 12.0| 2.0 4.0 47 - M5 8.0
JM55 10| 28 | 10 | 28 55 78.0 30.0 30.0 10.0 18.0 14.0| 2.0 4.0 55 M6 | - 7.0
JM55C 10| 28 | 10 | 28 55 78.0 30.0 30.0 10.5 18.0 14.0| 2.0 4.0 60 - M6 8.0
JMBS 12| 38 |12 |38 65 90.0 35.0 35.0 15.0 20.0 15.0| 2.5 4.0 65 M8 | - 15.0
JMB5C 12| 38 |12 |38 65 90.0 35.0 35.0 s 20.0 1508 2.5 4.0 e - M8 16.0
JMB0 16| 45 | 16 | 45 80 114.0 | 45.0 45.0 15.0 24.0 18.0| 3.0 4.0 80 M8 | - 15.0
JM8BOC 16| 45 | 16 | 45 80 114.0 | 45.0 45.0 15.5 24.0 18.0| 3.0 4.0 80 - M8 16.0
JM9I5 20| 55|20 |55 a5 126.0 | 50.0 50.0 20.0 26.0 20.0| 3.0 BiE 95 M8 | - 15.0
JMI5C 2018 55 |[F205] 55 a5 126.0 | 50.0 50.0 18.0 26.0 20.0| 3.0 BiE 95 - M10 40
JM105 20| 62 | 20 | 62 105 140.0 | 56.0 56.0 20.0 28.0 21.0| 3.5 BiE 105 (M10| - 32
JM105C 20| 62 | 20 | 62 105 140.0 | 56.0 56.0 21.0 28.0 21.0] 3.5 BiE 105 |- M12 15
JM120 20| 74 | 20 | 74 120 160.0 | 65.0 65.0 20.0 30.0 22.0| 4.0 BiE 120 (M10| - 32
JM120C 20| 74 | 20 | 74 120 160.0 | 65.0 65.0 26.0 30.0 22.0| 4.0 HiE 120 |- Mi2 115
JM135 22| 80 |22 |80 135 185.0 | 75.0 75.0 20.0 35.0 26.0| 4.5 HiE 135 (M10| - 32
JM135C 22| 80 | 22 | 80 i35 185.0 | 75.0 75.0 33.0 35.0 26.0| 4.5 HiE 135 |- Mi2 115

159



FH il B 0B 1T AT B &R

F ilii & By Specification:

Allofvtaggggeed H¥E Torque Iﬁ% =
P (N.m) RER SRS R R e BE
1 Eﬁﬁﬁﬁﬁ;ﬂ ( min) Tclirf?ional Dtyfr;amic Mcl:metr)tof N‘etht
NELTa. W | BAHE | (N.mirad) | (N.mirad) | (kom2) | ()
Rad TEB | (TKN) | (TKmax)
(JM) (JMC)
92A 1.2 2.4 14.3 43.0
JM14 98A 28000 25000 2.0 4.0 22.9 69.0 0.085x 1078 6.7
64D 2.4 4.8 34.3 103.0
92A 1.4 2.8 14.8 45.0
JM16 98A 27000 24700 2 4.4 23.4 72.0 0.09x 10 8 9.0
64D 3.0 6.0 36.0 108.0
92A 3.0 6.0 31.5 95.0
JM20 98A 26000 25500 5.0 10.0 51.6 155.0 0.49x10°% | 19.8
64D 6.0 12.0 74.6 224.0
92A 5.0 10.0 160.4 482.0
JM25 98A 19000 17000 9.0 18.0 240.7 718.0 Lkl = 37.0
64D 12.0 24.0 327.9 982.0
92A 7.5 15.0 114.6 344.0
JM30 98A 15200 12600 12.5 25.0 171.9 513.0 2.8x10 50.0
64D 16.0 32.0 234.2 702.0
92A 10.0 20.0 1090 1815
JM40 98A 10000 9000 17.0 34.0 1512 2540 20.4%x10 ® | 156.0
64D 21.0 42.0 2560 3810
92A 35.0 70.0 2280 4010
JM55 98A 8200 6500 60.0 120.0 3640 5980 50.8x10 ° | 362.0
64D 75.0 150.0 5030 10895
92A 95.0 190.0 4080 6745
JM65 98A 6300 5260 160.0 320.0 6410 9920 200.3x107° | 583.0
64D 200.0 400.0 10260 20177
92A 190.0 380.0 6525 11050
JM80 98A 5800 4600 325.0 650.0 11800 17160 400.6x10°° 966.0
84D 405.0 810.0 26300 42515
JM92 98A 4000 3800 450.0 900.0 21594 37692 2246x107° | 1820.0
JMi05 | 98A 3000 3300 525.0 1050.0 25759 45620 3786x10 " | 2430.0
JM120 98A 32000 2800 685.0 1370.0 42117 61550 7496x10 ° | 4530
JM135 | 98A 3000 2500 940.0 1880.0 48520 71660 12000x10°° | 6980
ERIEH) JM 40 c RD 16 19
Example -
BEE | e (BT RT O mipe LiE 7l

SHAC 160



55 B 7 il B 08 1T B 2R

ddl

g

] RNy
el
B[
FRER BREHHZJ[AHA REEFARELES “C” WEERE,
R Dimension: (mm)
g
RIgE di d2 D i g L2 = B C R DK M1 M R A%
ENEX BNEX i)
JM30T| 6 14 5] 14 30 50.0 | 18.5 | 18.5 | 13.0 | 10.0 1.5 2.0 30 M3 M3 x 1.5
JMA0T 10 20 10 20 40 66.0 | 25.0 | 25.0 | 16.0 | 12.0 | 2.0 4.0 40 M4 M4 x 6 2.5
JMssT| 11 | 28 | 11 | 28 | 55 | 78.0 | 30.0 | 30.0 |18.0 | 140 | 2.0 | 40 | 55 | M5 | M5x4 4.0
JMesT| 15 | 38 | 15 | 38 | 65 | 90.0 | 35.0 | 35.0 | 20.0 | 150 25 | 40 | 65 | M5 | M5x8 4.0
JM8OT| 20 | 45 | 20 | 45 | 80 | 114.0| 45.0 | 45.0 |24.0 | 180 | 3.0 | 40 | 80 | M6 | M6x8 8.0
e g 2
g2 8 Specification:
- SUEFHE | % Torque (N.m)| #FEAEEIY | B EAEEITKE 18 7148 HE
1 &B | Allowable Torsional Dynamic Moment of Net
Ak RIEE speed %EK%”;E (ffﬂﬁ) stiffness stiffness inertia weight
( min ) maxJ)l  (N.m/rad) (N.m/rad ) (kg.m2) (g)
92A 7.5 15.0 114. 344
JM30T 98A 25000 12.5 25.0 171.9 513 2.8x10 ~° 110.0
64D 16.0 32.0 234.0 702
92A 10.0 20.0 1090 1815
JM40T 98A 16500 170 34.0 1512 2540 20.4x10 8 290.0
64D 2100 42.0 2560 3810
92A 35.0 70.0 2280 4010
JM55T 98A 12200 60.0 120.0 3640 5980 50.8x10 ~® 700.0
64D 75.0 150.0 2030 10895
92A 95.0 190.0 4080 6745
JMB5T 98A 10500 160.0 320.0 6410 9920 200.3x 107® 1130.0
64D 200.0 400.0 10260 20177
92A 190.0 380.0 6525 11050
JM8OT 98A 8650 325.0 650.0 11800 17160 400.6 x 107° 2360.0
64D 405.0 810.0 26300 42515
EIREM
Example
JM 55 T RD 22 24
RSRiEH | HME RER B g FLIE

161



55 B 7 il B 08 1T B 2R

L1

RIg di d2 D L |uimel 3| F el B| c| R |DK Mﬁﬁﬁfﬁ
mNmEK| & 'mEK

JDM20C 4 10 | 4 10 20 |45.0|10.0 |25.0| 5.0 | 10.0| 8.0 | 1.0 1.2 | 24 M3 1.5

JDM25C 4 12 | 4 12 25 |52.0|11.0 (30.0( 5.0 [ 12.0|10.0| 1.0 | 2.0 |26.5 | M3 1.5

JDM30C 5 16 | 5 16 30 |56.0|11.0|34.0( 5.0 | 13.0(10.0| 1.5 2.0 [31.4 | M3 15

JDM40C 8 24 | 8 24 40 |92.0 |125.0 |42.0(12.0| 16.0( 12.0| 2.0 | 4.0 | 47 M6 8.0

JDM55C 10 | 28 10 28 55 |112.0030.0 | 52.0 | 10.5| 18.0 | 14.0 | 2.0 4.0 | 60 M6 8.0

JDM6E5C 12 | 38 12 38 65 |128.0135.0 | 58.0  11.5| 20.0( 15.0 | 2.5 4.0 | 72 M8 16

JDM80C 16 | 45 16 45 80 |158.0|45.0 | 68.0 | 15.5| 24.0( 18.0| 3.0 4.0 | 80 M8 16

EIRZE

Example

JOM | 30 c YL 8 10
RISk | HME | HERKEE FitH ALig L




B Y E Bk 28

1 il 2: By Specification:

= REmE T8
LiE pumg PEAAANY EE
Torsional | Net (N.m)
ik DfL|LI/L2] E| F |G|R Allowablel o oo [ weight
d1 d2 (min-1) ] N mirad)| (@) |[EE|8Xx
R e | 2R AR Min | Max
UNESENES
BW16 418 4 8 |16(30| 9.2 3.5 - +0.30 |0.10| 1.5 20000 100 8 0.8 1.6
9.5
BW16C| 4 |7 4 7 |16(30| 10.5 38 M3| £0.30 | 0.10| 1.5 18000 100 8 0.8 1.6
Bw20 | 5 |12[5 |12|20|29]| 105 2.7 - | +0.35 |0.15| 2.0 | 15000 160 12 | 15| 3.0
12.5
Bw2oc| 5 | 12|5 |12 |20|33]| 11.7 3.5 M3| +0.35 |0.15 | 2.0 | 13000 160 18 | 15| 3.0
BW25 | 5 |14|5 |14 |25(34| 118 3.8 - | +0.40 |0.15| 2.0 | 13000 220 28 | 20| 4.0
16.0
BW25C| 5 | 12|56 12 |25|38| 11.4 4.7 M4 | £0.40 | 0.15| 2.0 11000 220 38 2.0 4.0
BW32 6|16 |6 16 (32|37 | 10.5 3.2 - +0.50 |0.20| 2.0 10000 310 46 25 5.0
21.0
Bwaz2c| 6 |16 |6 | 16 [32]43| 13.0 4.5 M4| +0.50 | 0.20| 2.0 | 10000 310 56 | 25| 5.0
Bw4o | 8 |20[8 | 2040|551 15.0 4.9 - | +0.60 |0.20| 2.0 | 8000 520 gg | 10| 20
28.0
Bw4oc| 8 | 20|88 |20 |40|62]| 205 6.8 Ms| +0.60 |0.20| 2.0 | 8000 520 108 | 10 | 20
BW55 | 10| 30| 10|30 55|57 | 145 3.3 - | 080 |020| 2.0 | 6000 850 230 | 25 | 50
38.0
BW55C| 10| 30 | 10| 30 |b5|72 | 22.5 6.5 M6| £0.80 | 0.20| 2.0 6000 850 280 25 50
BW65C| 14| 38 | 14| 38 |65|81| 25.5 | 45.0| 7.5 Me| +0.80 | 0.20| 2.0 | 4500 960 420 | 60 | 120
Bws2C| 14| 42 [ 14| 42 |82|103| 34.0 | 56.0| 10 Me| 1.0 |0.20| 2.0 | 4000 1290 850 | 80 | 160
EIFEF
Example
BW 32 C 10 14
BT | SME |BEDR, BEER gy gy A

163



B Y E Bk 2%

u u
mvea T eedte
A By || mpe
H{ i
qr il
L
REERAUEH S
FEIEE R
SRR D AR E
REEBGEENEX
TERYEE
R < Dimension: (mm)
LIE
Il d1 d2 D L Lz | E D1 D2 M1 M ﬁﬁﬂ)ﬁ
B BX | &M EX :
BW40T 10 18 10 18 40 55.0 19.0 29.0 35.0 38.0 M4 M4 x4 2.5
BW55T 12 23 12 23 55 65.0 22.0 38.0 42.0 52.0 M5 M5 x 6 4.0
BWB5T 12 29 12 29 65 76.0 27.0 45.0 52.0 62.0 M5 M5 x 6 4.0
BWs82T 15 38 15 38 82 87.0 32.0 56.0 70.0 78.0 M6 M6 x 6 8.0
g2 8 Specification:
fEHE SR eyl Tl 1B 4E , BE
o Rated &A% Allowable Torsional Moment of mrﬂﬁﬁ EERE | f@eERE Net
RlgE t Max torque . g : Axial lateral Angular ;
orque ETH o) speed stiffness inertia L) (i (° ) weight
(N.m) ( min ) ( N.m/rad ) (kg.m2) (g)
BW40T 10 20 6600 8300 0.12 2.0 02 1.0 260
BW55T 25 50 6000 12900 0.27 1.5 0.25 1.5 400
BWBST 60 120 5000 31800 0.63 1.5 0.25 1.5 800
BW82T 130 260 4000 45800 1.50 1.0 0.25 1.5 1200
EEHER BW 65 T 24 28
Example — ~
RUSETELR | ShME RER pEded: FLiE

SHAC 164



A £ 58 38 F Bk i 2%

MPB-C

.

==

R~ Dimension: (mm)

FLAE (mm)
RISEIRAE %:J\C“%jc %dc\m Bx D D1 8 Lal L w F M ﬁfﬁ gi
Min | Max | Min |[Max
MP26C 5 10 5 10 26 - 25.5 11.5 2.5 3.6 M3 0.7 A
5 14 5 14 - 313 14.1 ol 4.5 M4 2.5 A
MP34C 5 9 5 14 34 313 14.1 3.1 4.5 M3 2.5 B
=) 9 5 9 e 31.3 14.1 a3 37 M3 2.5 C
MP39C 8 16 8 16 39 = 34.1 16.0 4.1 B.0 M3 2.5 A
8 19 8 19 = 34.5 15.0 4.5 5.0 M4 A
MP44C 8 19 8 15 44 34.5 150 4.5 5.0 M4 2.5 B
8 1 8 15 wH 8 34.5 15.0 4.5 4.5 M4 C
10 25 10 25 - 45.0 20.0 5.0 6.5 M5 A
MP56C 10 25 10 19 56 45.0 20.0 5.0 6.5 M5 4.0 B
10 19 10 19 880 45.0 20.0 5.0 6.2 M5 C
2 30 12 30 = 54.0 24.0 6.0 7.5 M6 A
MPB8C 12 30 12 30 68 54.0 24.0 6.0 T.5 M6 8.0 B
12 24 2 24 e 54.0 24.0 6.0 7o) M6 C
16 38 16 38 = 68.0 30.0 8.0 9.5 M8 A
MPB82C 16 38 16 28 82 68.0 30.0 8.0 9.5 M8 16.0 B
16 28 16 28 B 68.0 30.0 8.0 9.0 M8 C
MP94C 20 40 20 40 94 - 68.3 30.0 8.3 9.0 M8 16 A
MP104C 26 45 26 45 104 = 69.8 30.0 9.8 9.0 M8 16 A
S IE A MPA 44 c 12 16
Example wyEs | e |REZRLEREH | Am | Am

165



A 5% 5 58 F 5 o) 2%

15 T4 8 Specification:

B | x| Aiowanie | THorsional | Momentof |MERE| BREE| MEME || Nor
BUSRAB AR torque torque speed stiffness inertia ‘An)::_ﬁI) I(art:r;all AP?“';” #3 [weight
(N.m) [( TK max ( min ) ( N.m/rad ) (kg.m2) (g)
MP26C 126 3.0 10000 2400 2.7 +0.15 0.02 1 A 25
8.7 A 49
MP34C 4.0 8.0 10000 5600 7.3 +0.20 0.02 1 B 41
59 C 33
MP39C 6.0 12.0 10000 9600 18 +0.25 0.02 1 A 84
35 A 105
MP44C 10.0 20.0 10000 12000 24 +0.30 0.02 1 B 90
17 C 76
136 A 214
MP56C 25.0 50.0 10000 30000 102 +0.40 0.02 1 B 185
81 [ 156
283 A 396
MP68C 60.0 120.0 10000 60000 206 +0.45 0.02 1 B 337
147 C 279
715 A 727
MP82C 100.0 200.0 10000 72000 579 +0.55 0.02 1 B 625
386 C 513
MP94C 180.0 360.0 10000 82000 1950 +0.65 0.02 1 A 959
MP104C 230. 460.0 10000 120000 4230 +0.74 0.02 1 A 1181

7 on BUBR:

SHAC 166



A £ 58 38 F Bk i 2%

R~ Dimension: (mm)

FLAE (mm)

mggag I dz p | bt | L |tz F | w F M ﬁ‘fﬁ gﬁ

mNERK (RN RK

Min|Max | Min | Max
DMP26C| 5 | 10 | 5 | 10 | 26 - |30 | 115 | 70 | 25 M3 15 A

5 |14 |5 | 14 - A

5 9 5 14 45 14.9 9.4 3.3 B
DMP34C 34 21.6 4.5 M4 2.5

5 |9 [5 |9 G

5 14 5 14 = 33.5 11.6 4.1 3.1 D

8 |16 |8 | 16 - 49 15 | 10.8 | 4.1 A
DMP39C 39 4.5 M4 2.5

8 |16 |8 | 18 - 39 | 136 | 27 | 46 D

8 |19 |8 |19 - A

8 |19 |8 |15 50 15 11 45 B
DMP44C 44 | 296 45 M4 25

8 |15 |8 | 15 G

8 |19 |8 |19 - 40 | 136 | 5 3.9 D

10| 25 | 10| 25 - A

10| 25 | 10| 19 63 20 | 123 5 B
DMP56C 56 38 6.5 M5 4.0

10| 19 | 10| 19 C

10| 25 | 10| 25 - 56 20 56| 5 D

12 | 30 | 12 | 30 - A

12| 30 | 12 | 24 74 24 14 6 B
DMPB8C 68 7.8 M6 8.0

2 ||t || e || = 46 G

12| 30 | 12 | 30 - | 688 | 24 88| 6 D

16| 38 | 16 | 38 - A

16| 38 | 16 | 28 08 30 22 8 B
DMP82C 82 56 95 M8 16

16| 28 | 16 | 28 o

16 | 38 16 | 38 - 82.5 30 9.5 6.5 D
DMP94C| 20 | 40 | 20 | 40 | 94 - |96 | 30 22 83| 95 M8 16 A
DMP104Q 26 | 45 26 15 104 - 101.6 30 22 8.3 9.5 M8 16 A
;E%IEEF'J DMPA 56 C 19 24
xample

BgmE | oME BTN ETER s ALiE

167



A 5% 5 58 F 5 o) 2%

KT8 & Specification:

BELSRE | RAHDE | AHEE \pRanie) MENE | nnesl npes @
RUSER R oot Max —|Allowable | Torsional | Moment of ;xial IaI:eraI AnI= ular [MZ| Net
torque torque speed stiffness inertia ( )| ) [9 ) [ weight
(N.m) | TKmax)| (min ) { N.m/rad ) (kg.m2) mm mm gl
DMP26C 1:5 3.0 10000 1200 3.2 +0.33 0.15 | A a5
12 A 69
9.3 B 61
DMP34C 4 8 10000 2800 +0.40 0.18 H
6.1 Cc 53
12 D 61
24 A 123
DMP39C 4 12 10000 4800 +0.50 0.24 1
24 D 105
48 A i
37 B 136
DMP44C 10 20 10000 6000 +0.60 0.24 1
29 C 122
48 D | 136
166 A 304
129 B 275
DMP56C 25 50 10000 15000 +0.80 15000 1
95 C 246
166 D 275
459 A 556
317 B 498
DMPGBC 60 120 10000 30000 +0.90 0.34 1
273 C 440
459 D 498
852 A 1051
686 B 880
DMP82C 100 200 10000 36000 +1.10 0.52 1
592 Cc 732
852 D 880
DMP94C 180 360 10000 8200 2300 +1.30 0.52 1 A 1373
DMP104C 230 260 10000 60000 5650 +1.48 0.55 1 A 1707

SHAC 163



+F R R R

R~ Dimension: (mm)
FLIE
RISEH 18 d1 d2 D L L1/L2 F g M ﬁﬁﬁ)ﬁ
2| 8x |80 | B '
Min | Max | Min | Max
JH16 3 6.35 3 6.35 18 7 3.5 M3 - 0.7
16
JH16C 4 6 4 6 29 12.5 3.5 - M2.5 1.5
JH20 4 8 4 8 23 9 4.5 M4 - 1-7
20
JH20C 4 8 4 8 33 14 3.5 = M3 1.5
JH25 5 12 5 12 28 11 5.5 M5 - 4
25
JH25C 5 12 5 12 39 16.5 3.5 - M3 1.5
JH32 5 16 5 16 33 13 6.5 M6 - 7
32
JH32C 5 16 5 16 45 19 4.5 - M4 3
JH40 8 20 8 20 35 14 7 M6 -
40
JH40C 8 20 8 20 50 23 7 - M5 4
JH50 12 24 12 24 38 17 8.5 M8 - 15
50
JH50C i2 24 12 24 58 27 8 - M6 8
JHB3 14 30 14 30 47 21 10.5 M10 - 8
63
JHB3C 14 30 14 30 71 33 10 - M8 16
- . e
B ii& 8 Specification:
mrEde | mkme | cewma | BEOBER ) @EE | esaez | saez| =R
®I8E394% | Rated torque| Max torqud ~ Allowable orsiona Moment of lateral | Angular 2
(6 [ TRCmax ) speed stiffness inertia (mm ) (° ) weight
{ min ) ( N.m/rad ) (kg.m2) (g)
JH16 0.32 7
0.7 1.4 12000 31 1.0 3.0
JH16C 0.58 12
JH20 1.0 14
-2 2.4 10000 60 1.5 3.0
JH20C 1.6 19
JH25 3.0 27
2 4 8000 140 2.0 3.0
JH25C 4.4 36
JH32 9.5 50
4.5 9 7000 280 2.5 3.0
JH32C 14 69
JH40 23 80
9 18 4800 540 3.0 3.0
JH40C 41 130
JH50 67 150
18 36 3000 820 il 3.0
JH50C 120 230
JHB3 220 300
36 72 2800 1900 4.0 3.0
JHB3C 370 450
JH 32 c 10 12
BEE | 8 | BEIR e aet| A& Al

169




B Bt 0 =%

R~ Dimension: (mm)
FLIE o
FUSESE 1R d1 d2 D i L1/L2 = I G M %N M)
B &KX | &M | BX ;
Min | Max | Min | Max
JT16 5 8 5 8 M3 = 0.7
JT16C 5 8 5 8 L =3 8.5 18 2 = M2.5 1
JT20 5 10 5 10 M3 - 0.7
JT20C 5 10 5 10 = =5 & il 2 - M2.5 1
JT2s 8 12 6 12 M4 = 7
JT25C 8 12 6 12 26 i &n 1% 5 - M3 1.5
JT32 8 16 8 16 . » i i . M4 - 17
JT32C 8 16 8 16 - M4 2.5
JT40 8 20 8 20 M5 = 4
40 56 17 22 8.5
JT40C 8 20 8 20 = M5 4
JT50 12 25 12 25 M6 - 7
50 71 21 29 10.5
JT50C i 25 12 25 = M6 8
JT63 14 35 14 35 M8 = 15
63 90 26 38 13
JT63C 14 35 14 35 - M8 16
e - .
32 8 Specification:
mEAE | Bids | AFEE | BEAEEE | REHE MEBE |EEEZ| ez B8
4 Rated torque| Max torqud Allowable| Torsional | Moment of ; Net
RUSEHI1& q ax torq : S Axial lateral | Angular :
(N.m) (TKmax )| sPeed stiffness inertia i (e (> ) weight
( min ) (N.m/rad ) | (kg.m2) (g)
JT16 0.33 2 8.1
TR 0.5 1 24000 80 — +0.4 0.10 5 r
JT20 0.90 2 14
e 1 2 20000 170 — £0.4 0.10 S p=
JT25 2.60 2 27
2 4 15000 380 0.5 0.15
JT25C 2.60 * 2 a7
JTaz 9.60 z 60
4 8 12000 500 £0.5 0.15
JT32C 9.7 2 75
JT40 32 2 130
8 16 9500 700 £0.5 0.20
JT40C 33 2 145
JT50 100 2 260
16 32 7000 1800 £0.5 0.20
JT50C 100 2 300
JT63 320 2 490
32 64 6000 3100 £0.5 0.20
JT63C 320 2 580
BAIRRE i 20 c 6 8
BxAmple BEFL, BFDE
RISRTEME | IME | Zrnlmme. ALz fLE




e o Bt i 2%

L1 L2

$42

$dl

F|Fl
L 4
=
Bl A p. ! q‘ i
- A" A "4 -
P F
FLIE
d1 dz2
USRI D L L1/L2 E E F1 @ M ﬁ(ﬁﬁ)ﬁ
=M | &KX |®N | EBK '
Min |Max | Min | Max
JR16 4 6 4 6 16 - - 3.8 - M3 - 0.7
16
JR16C 5 6 5 5] 16 7.5 0.6 3.8 - - 2xM2.5 1.0
JR20 5 10 5 10 30 - - 7.0 - M3 - 0.7
20
JR20C 5 8 5 8 30 14.7 0.6 3.8 - - 4 x M3 1.0
JR25 6 12 6 12 40 - - 9.0 - M4 - 1.7
25
JR25C 6 10 6 10 40 19.5 1 5.0 - - 4 x M4 1.5
JR30 8 16 8 16 44 - - 10.0 - M4 - 1.7
32
JR30C 8 10 8 10 44 21 1.2 5.5 - = 4 x M4 25
JR40 10 24 10 24 50 - - 12.0 - M6 - 7.0
43
JR40C 10 22 10 22 50 24.2 1.5 6.5 - - 4 x M5 4.0
BIREM
Example JRL 43 C 19 22
B | oSS |ERZTLEIER | A i

171



B 1 Bt 0 =%

FEEMIE mAALE St FTEE IR 7458 HE
FGE 4R e Rated torque Max torque Allowable Moment of Net
(N.m) ( TK max ) speed inertia weight

{ min ) (kg.m2) (g)
Jri16 0.3 0.6 20000 0.4 11
JR16C 0.3 0.6 18000 0.3 9
JR20 0.5 1.0 20000 1.3 20
JR20C 0.5 1.0 16000 0.9 15
JRL20C 0.5 1.0 14000 0.9 18
JR25 1.0 2.0 20000 3.9 39
JR25C 1.0 2.0 16000 2.7 29
JRL25C 1.0 2:0 12000 3.4 38
JR30 2.0 4.0 19000 12.0 71
JR30C 2.0 4.0 14000 7.1 51
JR30C 2.0 4.0 10000 10.0 70
JR40 4.5 ) 12000 46.0 170
JR40C 4.5 9.0 10000 34.0 130
JRL40C 5.0 10.0 8000 42.0 160

SHAC 172



173



AR X1
BK

o 4-XiEFL O YR EEFLRZ
ﬁ;m 4-Xdrill through@Y counter bore depthZ
/ 2 .13
|
ma
o
£
= b c1,ic2
P LY, L
B
Bfi: (Unit) :mm
g +0.02 +0.02

IS IRTESTA R 28 W1E 5 T G2 ES R TN R i R Bl N N R B 2 X )

Type
BK 10 HUNEZ5 S 29 = 13 6 60 39 30 22 N R34 325 B 15 46 18550 (66|08 S
BK 12 12 25 5 29 5 13 6 60 43 30 25 34 325 18 46 5.5 6.6 10.8 1.5
BK 15 15027 06 32 6 15 6 70 48 35 28 40 38 18 54 55 6.6 11 6.5
BK 17 17 35 9 44 7 19 8 86 64 43 39 50 55 28 68 6.6 9 14 85
BK 20 20N NS5 8 43 8 19 8 88 60 44 34| 52| 50 22 70 6.6 9 14 B.S5
BK 25 25 42 12 54 9 22 10 106 80 53 48 64 70 33 86 9 11175 11
Bk 30 30 45 14 61 9 23 11 128 89 64 il 76 T8 34102 N4 PN T 3
Bk 35 35 50 14 67 12 26 12 140 96 70 52 88 79 35 114 11 14 20 13
BK 40 40 61 18 76 15 33 14 160 110 80 60 100 90 37 130 14 18 26 17.5
ALL) .. — >
2 15 i 4-X@BIL GYREBEALIFZ
4-Xdrill through@Y counter bore depthZ
H GI
¥ Sy
=l
.CEI
4-9d2 : ; T
‘ i b |
o |
) B . L
BA7: ( Unit) :mm
Eitls 0.02 0.02
. o 11 S B (e IO 8 BT B O O 2 o
ype
BF 10 8 20 60 39 30 22 34 32.5 15 46 G5 6.6  10.8 5
BF 12 10 20 60 43 30 25 34 32.5 18 46 5.5 66 10.8 1.5
BES 15 i 20 70 48 35 28 40 38 18 54 ol 6.6 i 6.5
BF 17 17 23 86 64 43 39 50 55 28 68 6.6 9 14 8.5
BF 20 20 26 88 60 44 34 Ly 50 22 70 6.6 9 14 8.5
BF 25 25 30 106 80 53 48 64 70 33 85 9 11 175 11
BF 30 30 32 128 89 64 51 | 76 78 33 102 11 14 20 13
BF 35 35 32 140 96 70 52 88 79 35 114 11 14 20 13
BF 40 40 37 160 1kl 80 60 100 90 37 130 14 18 26 5D

SHAC 174



212 R 2-Xili7L & YL RZ o

2-Xdrill through@Y counter bore depthZ

2-Xdrill through

EK

Bl £ iy
i P e I
2-X EFl
2-Xdrill through
S | s P
EK5
« Lt . EK6-8 EK 10~20
BfI: (Unit) :mm
4 0.02 0.02
T"ﬁ di Bt L2 | kel e e | h"™" B1 HI P X Y Z
ype
EK5 ks BE 18.5 35 36 21 18 il 20 8 28 4.5 - -
EK 6 6 20 5.5 22 3.5 42 25 21 13 18 20 30 55 95 11
EK 8 8 23 7 26 4 N 32 26 17 25 26 38 6.6 11 12
EK 10 10 24 6 29.5 6 70 43 35 25 36 24 52 9 - -
EK 12 12 24 6 2905 6 70 43 35 25 36 24 52 9 - -
EK 15 15 25 6 36 5 80 49 40 30 41 25 60 11 - -
EK 20 20 42 10 50 10 95 58 47.5 30 56 25 75 11 - -
E F auu 2-XiBFL b YIMIAFLIEZ .
iguﬂﬁ 2-Xdrill throughe 'Y counter g:iﬁﬂhmu h
bore depthZ B1 | — g

[ Bt
a

EF6~8 EF10~-20
Efr. (Unit) :mm

Eitls +0.02  +0.02

Type d1 L B H b h B1 H1 B X Y 7
EF 6 6 12 42 25 31 13 18 20 30 5.5 9.5 11
EF 8 6 14 52 32 26 17 25 26 38 6.6 11 12
EER((] 8 20 70 43 35 ks 36 24 b5 9 - -
EF 12 10 20 70 43 35 25 36 24 52 9 - -
= ks 15 20 80 49 40 30 41 25 60 9 - -
EF 20 20 26 95 58 47.5 30 56 25 75 11 - -

178



AR 1

FK
Bl %E ifi

BgE

Type
FK 5
FK 6
FK 8

FK
FK
FK
FK
FK
FK
FK

FF
32 15 U

10
12
15
1T
20
25
30

10
12
15
117
20
25
30

4-Xiliflg Yin kL FLIRZ
4-Xdrill through@Y

counter bore depthZ

16.5

20
23
27
27
32
45
52
57
62

B
Type

FF 6

FF
FF
FF
FF
FF
FF
FF

10
12
15
17
20
25
30

10
15
i
20
25
30

10
12
1ig]
¥4
20
20
24
27

10.5
13
14
17
17
17
23
30
30
32

O N N O

11
11
14
18

4-XiBflo YR LFLiRZ

E T1 4-Xdrill throughgY
L1 counter bore depthZ
©
e s §
H F
—s .L—-
* 5 FK10~30
Bfr: (Unit) :mm
E Dgé A PCD B L3l | F X Y
18:5 20 34 26 26 5.5 s | s | G 4
22 22 36 28 28 5.5 35 3.4 865 e
26 28 43 35 35 7 4 3.4 6.5 4
29.5 34 52 42 42 7i5 5 4.5 4
29.5 36 54 14 44 Vb ) 4.5 4
36 40 63 50 52 10 6 55 9.5 6
47 50 i 62 61 11 9 6.6 11 10
50 57 85 70 68 8 10 6.6 11 10
60 63 98 80 79 13 10 9 15 13
61 75 117 95 93 11 12 11. 175 45
4-XiBFlp YL LFLRZ
{;—Xdri\l through@Y counter bore depthZ
- S I e |
SN
e —lwo
r(,{ ;// ,/”‘“\\‘\ e s § 7 _'E S
A
| J |
«\\{ T / .
o . LA
K\”i/ L
7
\5//
Bfr: (Unit) :mm
I Dg6 A PCD B X Y 7
4 22 36 28 28 3.4 6.5 4
5 28 43 35 35 3.4 6.5 4
8 34 52 42 42 4.5 8
8 40 63 50 52 5.5 9.5 5.5
9 50 77 62 61 6.6 11 6.5
9 57 85 70 68 6.6 11 6.5
10 63 98 80 79 9 14 8.5
9 75 117 95 93 11 175 11

SHAC 176



BEMiERY (BEEi% ) -BK.FK.EK

= M—\ =
o \ <
] i)
) -
| =)
s
—y
F E
Bfr: (Unit) :mm
TYPe  Ball Screw shaft OD Shaft Support Porion OD MEite setewihoay
BKE ( Type BK ) d A B E F M s
BK 10 12/14/15 10 8 36 15 M10x 1 16
BK 12 14/15/16 12 10 36 15 M12x 1 14
BK 15 18/20 15 12 40 20 M15x 1 12
BK 17 20/25 17 15 53 23 MA17 x 1 17
BK 20 25/28 20 17 53 25 M20 x 1 15
BK 25 32/36 25 20 65 30  M25x1.5 18
BK 30 36/40 30 25 72 38  M30x1.5 25
BK 35 45 35 30 81 45  M35x1.5 18
BK 40 50 40 35 93 50  M40x1.5 35
Bfr: (Unit) :mm
: RERARAT A& AR o
%!f:fe i Mt ; Metri?sfrrﬂfv?thead
Ball Screw shaft OD Shaft Support Porion OD
FK& (Type FK) FK& (Type FK) d A B E F M s
FK 6 EK 6 8 6 4 28 8 M6 x 0.75 8
FK 8 EK8 10/12 8 6 32 9 M8 x 1 10
FK 10 EK10 12/14/15 10 8 36 15 M10x 1 11
FK 12 EK12 14/15/16 12 10 36 15 M12x 1 11
FK 15 EK 15 18/20 15 12 47 20 M15x 1 13
FK 17 = 20/25 17 15 58 23 M17 x 1 15
FK 20 EK 20 25/28/30 20 17 62 25 M20 x 1 17
FK 25 = 30/32/36 25 20 76 30 M25x1.5 20
FK 30 - 36/40 30 25 72 38  MB30x1.5 25

171



BEMinRY (BlEiw) -FF.EK.BF

n_—\..;-—
I

T HE

7
FFE (Type FF) EF& (Type EF) EFEl (Type EF)
BFE ( Type BF)

AI%E REKAAT B
Type HishE wNE
Ball Screw shaft OD Shaft Support Porion OD
FF& (Type FF) EF# (Type EF) BF& ( Type BF ) d A
FK 10 EF10 BK 10 12/14/15 8
FK 12 ERE2 BK 12 14/15/16 10
FK 15 EF15 BK15 18/20 15
EK 17 - BK17 20/25 i
FK 20 (BK20) i NOTE 25/28/30 20
FK 25 BK 25 30/32/36 25
FK 30 BK 30 36/40 30
- BK 35 40/45 35
- BK 40 50 40

(3E)
R-t¥&d () R<H&RTRBF20MIR~T, BE&H
FF20REF200)R~TA[E, BT ERFSE
HEMTERAR L IEE TR

Note:
In this table,dimensions in parentheses are those of
type BF20.These dimensions differ from those of
type Ff20 and Ef20.When placing an order,always

specify the model number of the Support Unit to be
used

BAr: (Unit) :mm

INEREHE Snap-ring Groove

E
10
11
13
16 12
19(16) 14(12)
20 15
21 16

23 18




WBK Bl S ZIFHE

#R5%/Park No. & E#8/Part name HE/aty
1 Y 7R JEE 2 8 Housing 1
*igEECH
(H option) 2] il 7%/Bearing 1401 set
3 B4R /Holding lid 1
4 5 B B/ Collar =
5 BhEt/Seal 2
6 $H E #2208/ Lock nut 14H/1 set
M7~ falEfTigas
7 Hexagon socket-head 4
Setscrew

IT
i
"
2

el e e SRR | ISP R SEEGIE

¢D g6 ¢dl- - -

oou e
e L2 L2
L L
DFia& DFD&&
B {i7/Unitmm
. SZHEFEERST Dimensions of support unit
Type d D D1 D2 I L] 2 A W X Y e d1 V' B Q H
WBK 17DF 17 | 70 | 106 | 72 | 60 | 32 | 15 | 80 | 88 | 9 | 14 | 85 | 45 58 | M5 | 10 | M6
WBK 20DF 20 | 70 | 106 | 72 | 60 | 32 | 15 | 80 | 88 | 9 | 14 | 85 | 45 58 | M5 | 10 | M6
WBK 25DF 66 | 33
WBK25DFD | 25 | 85 | 130 [ 90 | 81 | 48 | 18 | 100|110 | 11 | 17 | 11 | 57 70 | M6 | 12 | M6
WBK 25DFF 9% | 48
WBK 30DF 66 | 33
WBK30DFD | 30 | 85 | 130 [ 90 | 81 | 48 | 18 | 100|110 | 11 | 17 | 11 | 57 70 | M6 | 12 | M6
WBK 30DFF 9 | 48
WBK 35DF 66 | 33
WBK35DFD | 35 | 95 | 142 | 102 | 81 | 48 | 18 [ 106|121 | 11 | 17 | 11 | 69 80 | M6 | 12 | M6
WBK 35DFF 96 | 48
WBK 40DF 66 | 33
WBK40DFD | 40 | 95 | 142 (102 | 81 | 48 | 18 | 106|121 | 11 | 17 | 11 | 69 80 | M6 | 12 | M6
WBK 40DFF 96 | 48
f&iE(Note):

187&R A (P441 ) $1A%E3R60 ° TACH RRFEAR.

(Inside bearings use high precision P4 grade TAC 60 degree contact ball bearing.)
2RI (1R AR )
(The standard type is without H, if required, please advise in advance.)

EARERBEEERNEHALR,




WBK B EszisE

4-pdpQPCD ¢V
=" W% (bothsides )

4-pdp QPCD ¢V o e

WiHE ( both sides )

8-0oX HZF Y #iF PCD dW
6-bX BEF Y HEPCD dW - . 8-X drill @Y counter bore depth ZPCDdW
6-X drill @Y counter bore depth ZPCDdW

HE0d<30 035 12
Shaft diametei@d<30 Shaft diametei@d=35 ®
/ b
@ P @ P 417
@, \ | L 13 ™
- ‘ ] R P
e i Y
{ -
i Y
-
. - L3
P TeLo P S E O — - 4D dgb D2 DI
i — 7 T o S
i ifoi o S i Lock
Fzar _:'—G_IEE{j
! --—-1-—-- | L5
! | L4
L2 L2
L
Rt
DFD#EE Dimensions of shaft end
EE{SL/Unit:mm
a EABERETE (5 IR E e HAEEE | EEAE SHESRIR BE | HmR~
Bigk Basic dynamic load rating Permissible axial load Prel:l:;fa;iE Axial rigidity | Starting torque LD% L Waight | Dimensions of shet end
Type Calkgf) (kaf) (kgf) (kgf/um) (kgf-cm) M D3|[L3| & [ d | L4]|L5
WBK 17DF 2240 2710 220 75 1~1.9 M17x1 37 (18| 197 | 17 | 81| 23
WBK 20DF 2240 2710 220 7 1~19 M20x1 40 (18| 197 | 20 | 81 | 23
WBK 25DF 2910 4150 320 100 1.6~29 33 89
WBK 25DFD 4700 8300 440 150 2.2~4 M25x15 | 45|20 | 3.85 | 25 (104 | 26
WBK 25DFF 4700 8300 640 200 2.8~5 44 119
WBK 30DF 2980 4400 340 105 1.7~3 34 89
WBK 30DFD 4850 8800 460 155 2.2~4 M30x1.5 |50 | 20| 3.7 | 30 |104| 26
WBK 30DFF 4850 8800 680 205 2.9~52 4.4 119
WBK 35DF 3150 5100 390 120 1.9~35 275 92
WBK 35DFD 5150 10200 530 175 2.5~4.6 M35x15 | 55|22 | 44 | 35 |107| 30
WBK35DFF 5150 10200 780 240 3.3~6 5 122
WBK 40DF 3250 5300 400 125 2~37 3.65 92
WBK 40DFD 5250 10600 540 185 24~40 M40x15 | 60 | 22| 4.3 | 40 (107 30
WBK 40DFF 5250 10600 800 245 34~6.2 5 122
f&iE (Note ) :

3 BAEEERETLAESER
(Dimensinons with *+ mark can be used for dust cover and damper installation.
About Its correct position, please contact SYK.)

SHAC 150



HR9E/Park No ERmn&%E/Part name #=/ay
1 B 7R R 7 B8/Housing 1
2 ¥ /Bearing 14H/1 set
3 JE15R/Holding lid 1
4 fis} B EEl/Collar 2
5 B Ef/Seal 2
6 5 E $208/Lock nut 146/1 set
7 F LT AR
7 Hexagon socket-head 4
Setscrew
©)
Qz‘J\ \ /‘I©
\ \ J:‘
@ \ \
\ /£
% N i i1 /
SRR O ‘
—— v;] ‘ A N \ i
I 5 \ :' I\ // :
[ 3 ) \'\ .\. \ .JI |
g s 3 \
I i N\ \ f 1
| SEe—r] - il ﬁ@ |
I | I | i
@D g6 L L [
JI;QJ]/‘ ml . tDiD @D
| i
i |
- EEOAioE
: i
i
2_} i = — ! ‘:' 1
L1 L2 |
3 L1 L2 :
] L | -_____..____L_._._. |
DFffi& DFF@&
B3 {ir/Unit:mm
gk 37328 R <t Dimensions of support unit
dyke d D D1 L L1 L2 A W X iy Z H
MBK 15DF 15 58 79 50 24 | 145 79 66 | 6.6 11 7 M6
MBK 17DF 58 79 50 | 24 79 | 66
17 14.5 66 | 11 7 | Mé
MBK 17DFF 65 88 80 56 88 74
MBK 20DF 58 79 50 | 24 79 | 66
20 14.5 66 | 11 7 | M6
MBK 20DFF 65 88 80 56 88 74
f&iE(Note):

183K A (P4 ) BRAEER60 ° TACH RRIEKRM.
(Inside bearings use high precision P4 grade TAC 60 degree contact ball bearing.)
2 AEAERIENE (15T % )

EAREREAENAB AR,




MBK BIf55ERE

8-OX % ¢V #IRZ PCF OW
8-X drill @Y counter bore depth Z PCF oW

®D3

BE0d<20 HERIE
Shaft diameteddd<20
L L3 L L3
| pre—
o |

Ol
r T i
¢d M T T
f f ¢d M
‘ L5 i i {
L4 [ ‘ L5 ‘
L4 |
DF#hiE R <F DFF i R <
Dimensions of shaft end Dimensions of shaft end
E{7/Unit:mm
g HABEIRTE W RREE REmE | WAEANE | HEhE ﬁ%ﬂlﬁ‘ g8 | ®iRRT
Basic dynamic load rating Permissible axial load | Preload | Axial rigidity | Starting torque Lock nut WD e afsnh snd
ES Ca(kgf) (kgf) (kgf) (kgf/um) (kgf-cm) M D3[L3| ®9 | d [L4] 15
MBK 15DF 2240 2710 220 75 1-19 M15x1 - - 19 15| 69 | 23
MBK 17DF 2240 2710 220 745 1~19 19 69
M17x1 27§18 1177 23
MBK 17DFF 3620 5420 440 145 1.8~3.3 23 101
MBK 20DF 2240 2710 220 75 1~1.9 19 69
M20x1 40 [ 18 20 23
MBK 20DFF 3600 5420 440 145 1.8~.33 2.3 101

(The standard type is without H, if required, please advise in advance.)

SHAC 152



DSG IR} SZIFEE

oy
e@\\\
= &
v?’
ol | o
\
@O
= 9 5B
c1l 2
E h E h
L
H H
DSG...H(D 32) DSG...H(D 40 )
%ﬁﬁ BEES p| Bl H|h|E| L|lct|lce| p| x|w]|yY
SFU/SFS 1605
SFU/SFS 1610
DSG16H 28 | 52 | 40 | 20 | 12 | 40 | 8 | 24 | 40 | M5 | 38 | M5
SFS 1616
SFS 1620
SFU/SFS 2005
DSG20H 36 | 62 | 44 | 22 |12 | 40 | 8 | 24 | 48 | M6 | 47 | M6
SFS 2010
SFU/SFS 2505
DSG25H | SFU/SFS 2510 40 | 66 | 48 | 24 | 13 | 40 | 8 | 24 | 50 | M6 | 51 | M6
SFS 2520
SFU/SFS 3205
DSG32H | SFU/SFS 3210 50 | 86 | 62 | 31 | 17 | 40 | 8 | 24 | 66 | M8 | 65 | M8
SFS 3220
SFU/SFS 4005
DSG40H SFU/SFS 4010 63 | 100 80 40 / 59 9.5 40 78 M8 78 M8
SDS 4020
SFU/SFS 5010
DSG50H 75 |120 | 90 | 45 | / | 60 | 10 | 40 | 100 |M10| 93 |M10
SFS 5020
DSG1616 | SFU/SFS 1616 32 | 54 | 38 |19 | 8 | 40 | 8 | 24 | 44 | M5 | 42 | M4
DSG2020 | SFU/SFS2020 30 | 64 | 46 | 23 | 11 | 40| 8 | 24 | 52 | M5 | 50 | M5
DSG2525 | SFU/SFS 2525 47 | 68 | 56 | 28 | 9 | 40| 8 | 24 | 50 | M5 | 60 | M6

183




e 3!
KKZ

1.1 B

O REtRZRES

O iR\ E8K

O SHRE

O St

O Bz

O BE{LaRaEt
BLESBHERTRD - SEIRGHIE
S8 . SUWGERTL :

BUEEAASERDBHTE , ARKBERVEZRMBHSIEN. Hi  BERKARKEEZEE
BREREMEBH 2 ESBR




1.2 EmBER

KK 60 10 P E

|
KK %§ﬂ
el

40, 50, 60, 86,
100,130

TRIRIRIE (RSB —
KK 40 : 1

KK 50 : 2

KK 60 : 5, 10

KK 86 : 10, 20

KK 100 : 20

KK 130 : 25

BEFR :
P *%"E%& G _ﬂﬁﬁ‘&

E: RIRIFFSIAINT
HRFCHR « RIKIRIRIRHER

#HEEREE (mm)

400

KK40 : 100, 150, 200

KK50 : 150, 200, 250, 300

KK60 : 150, 200, 300, 400, 500, 600
KK86 : 340, 440, 540, 640, 740, 940
KK100 : 980, 1080, 1180, 1280, 1380
KK130 : 980, 1180, 1380, 1680

E : SUEHFRIILT
EEoR - PLEREL

185

A

FO C

S

BRI -

w LN -—= 0O

HERIE

: Omron SX671

: Omron SX674

: SUNX GL-12F

: SUNX GL-N12F-PX10

: BEBR

HERCHR < H

C: iBE=
B: [FfEEE
HECHR . HEE

BEEELAW
FE : :900T

E : JBEEFFFAINL
HHECIR ¢ IBEEIRERY

TEEEEE 1,2

BEERIS -
A ERHERY
S BEEHY



1.3 BAERE

s BRI gz EREL2 #RE (mm/sec])
(mm) (mm) =AY — i R
100 190 190
KK40 01 150 190 190
200 190 190
150 270 270
200 270 270
KK50 02
250 270 270
300 270 270
150 550 390
200 550 390
300 550 390
05
400 550 390
500 550 390
600 340 340
KK60
150 1100 790
200 1100 790
300 1100 790
10
400 1100 790
500 1100 790
600 670 670
340 740 520
440 740 520
540 740 520
10
640 740 520
740 740 520
940 610 430
KK86
340 1480 1050
440 1480 1050
540 1480 1050
20
640 1480 1050
740 1480 1050
940 1220 870
980 1120 800
1080 980 800
KK100 20 1180 750 750
1280 510 630
1380 440 Sal
980 1120 800
1180 1120 800
KK130 25
1380 830 800
1680 550 550

SHAC 136



B R

RER
KK4001

— AR

BEMR
KK5002

— R iR

HER
KK6005

— iR

BER
KK6010

— iR

BER
KK8610

— Rk

RER
KK8620

—RRiR

BEIR
KK10020
— iR

RER
KK13025

187

Me
Xy
Gl -
i N ol ey 8
[ .\
1 "r!'r' "r!'r‘ I|
RIRIRIE BIEEE
R ¥ EF EAx EX EX BitR0%E
ﬁ ENZE BE 0 BE BE
= [—1 -_—
m B OERE ERE TRE EAH M (N-m) M, (N-m Mg (N-m)
(N) (N) (N) (N)
(mm] (mm)
BEE BEE BEE BEE AR B BT JBES B B B BE BE B BE BE
A S A S AN FAZ IS S22 FATY BAZE BSTH RS2 FATR FAZ EST 152
735 1538
8 1 3920 - b468 - 38 B 82 e - 33 182 - - 81 162 -
676 1284
2136 3489
8 2 8007 12916 116 278 - - M6 278 - - 222 444 - -
1813 2910
3744 6243
5
8377 5625
12 132301 W33 21462 1574 P52 | (3481 72 205 F1528 (848 F720 [ 205] 419 [B38) F241) 532
2410 3743
10
2107 3234
744 12642
10
6429 11387
15 31458 - 50674 622 3050 - - 622 3050 - - 1507 3014 - -
4645 7655
20
4175 6889
7046 12544
20 20 39200 - 63406 - 960 4763 - - 960 4763 - - 2205 4410 - -
4782 2163
7897 15931
25 25 48101 - 84829 1536 7350 - - 1536 7350 - - 38857770 - -
7092 14352



1.5 BEER

BuER

KK40

KK50

KKé0

KK86

KK100

KK130

100
150
200
150
200
250
300
150
200
300
400
500
600
340
440
540
640
740
940
980
1080
1180
1280
1380
980
1180
1380
1680

EN SR
wEilR R
£0.003  *0.01
+0.003  *0.01
+0.003  *0.01
+0.003  *0.01
+0.003  *0.01
+0.003  *0.01
£0003  +0.01
+0.005  *0.01
+0.005  *0.01
+0.005  *0.01
+0.005  *0.01
+0.007  *0.012

B8

0.020

0.020

0.020

0.025

0.025

0.030
0.040

0.035

0.040
0.045
0.05

0.035

0.04

0.05

EEfi] : mm

RAEEHE IN-cm)

—fR RER WK

ENEE TEFITE
iR Rl
- 0.010 - 12
- 0.010 - 4
- 0.010 - 15
- 0.015 - 15
- 0.015 - 15
- 0.020 - 17
- 0.030 - 25
- 0.025 - 17
- 0.03 - 20
0.035 23
0.04 25
0.025 25
0.03 25
- 0.04 - 27

0.8

12
12
15
15
15

18

SHAC 153



1. 6 [ERFEERLR

1.6.1 KKIRAZINEEESE

i

O SERTRIEER

O #5/E : 20~25pm (300mmEAR)

O EBHEE 20~25um (300mmELM)
O BAEE 30~120mm/s

O #7J 150~600N

O {FHRPHREIRIZIF

M52 5 E B R IR

K‘K 2 - 60 10 P - 300 A 2 - M1 D1 FO & SO
KKZ 3
SRR
iz o S0: RAEHRREE
HEOIR ¢ RNER 1:0mron SX671
1: BBiE 2 : Omron SX674
2: BiEFERENZS 3 : Inductive Proximity
3: F5iE - BaEN=RAN 4 : SUNX GL-12F
= 5: SUNX GL-N12F-PX10
R~ o—— —ﬁﬁ :
40,50, 60, 86, 100, 130 C: iE:E%
B _fEﬁfﬁg;E%i
RIKIZFRYERE ¢ B« HFEE
KK 40 : 1
KK 50 : 2 —— SEEREE
KK 60:5,10 (2EZF6-98)
KK 86:10, 20
KK 100 : 20 E: BEEFFHRIIL
KK 130 : 25 HE0NR ¢ RER
BEFR : P_II%E}”E%U-E
P: XBEHR - C: —f%iR HECIR - ETHIF
R EN23
ELJEEE lmml DI : ;Ijjﬁ
KK40 : 100, 150, 200 D2 . AREE
KK50 : 150, 200, 250, 300
KKé&0 : 150, 200, 300, 400, 500, 600 ERFhae
KK86 : 340, 440, 540, 640, 740, 940 M1 - 5
KK100: 980, 1080,1180, 1280, 1380 M2 RS
KK130: 980, 1180, 1380, 1680
TEEERITY, BEEHE 12
A FREERY
S : EEEE

189



1.6.2 FRABENFREERLR

EEEs AN KK4O0  KK50  KK60  KK86  KKI100  KK130
MSM3AZ(30W)
MSMS5AZ(50W) F2 F2 F2 F3
MSMO1(100W)
NINCEES
MSM02(200W)
MSMO04(400W) -
MSMO08(750W) Fé F2 F4
HC-PQ033(30W)
HC-PQO53(50W) F1 F1 F1 F2

HC-PQ13(100W)

_ HC-KFS053(50W)

—=THW F1 F1 F1 F2
HC-KFS13(100W)

HC-KFS23(200W]

HC-KFS43(400W) i & i
AC BfR5SZ
HC-MF73(750W) Eil EZ
SGMAH-A3(30W)
SGMAH-A5(50W) El F1 E2
SGMAH-01(100W)
SGMPH-01(100W]
Z)||E# SGMAH-02(200W) FO Fo F1
SGMAH-04(400W)
SGMPH-02(200W)
SGMPH-04(400W) .
SGMAH-08(750W) F1 F2
Nemal7 E3 F3 F)
Nema23 (F-E2) F4 Fé
Nema3sd E4
PK24 E3 E3 ES
PK26 (F-E2) F4 Fé
PK29 F4 E3
VEXTA
PK54 =3 5
SERE PK56 IEoE1] F5
PK59 E3
Nemal7 E3 E3 ES
Nema23 (F-E2) F4 Fé
Nema34 F4

SHAC 1%



1.6.3 BEEIFEE

KK&40

Motor AdaPtor Flange FO Motor Adaptor Flange F2
12 14___5{.’ PCD29  4:M3X0.5P6DP = sisﬂ A M EEAB.L0R  PCLAS
i = e eI ==
; E ] ’7/_ }-ﬁ\ w \ v | JI_ i .1} T"‘:
. 1] LA P R e iy fE e [
SRS R =
== )
o
Motor Adaptor Flange F1 Motor Adaptor Flange F3
9 85 4-MAXD.7TPXBSDP PCD46 3 T L 4-@34Thry
. i@/‘ %{gﬁ . ‘J"‘* 5 S B 6x3.50P
e =P ) ) — T T ie = g xThru
N :— . |_:j"'// M-: { ﬂamﬂ— R 7i§%gl 5 75@?} 4-M3x0.5PxThi
— = o A /. — ] s i \CE:Z/ 4
Sy Vai e T @
Motor Adaptor Flange FO Motor Adaptor Flange F2
60
14 34 PCD33 , 4-M3x0.5Px8DP 60 85 PCDA4S_ 4-M3x5PXBDP
S \ / EL-E- .
= = | \?J\ il ,_L_‘ VB
iy 6| oSty \ ¥ i T
el N g g { \\% \'¢ ] ! !?3; g J [ \ 7@)\:\' \l
] ol 1T\ N f | 8o s i
— - ? RN Y S — SR Sl _ &/
) - 7
Motor Adaptor Flange F1 Motor Adaptor Flange F3
60 85 PCD46  4-Mdx TPx8DP -, o ; 49 4-!253.:Thtu,
_Tl_i N / ) | Kl . 6x3.5DP
i T (5,8 Hi ] J
¥ - J}' sl 1F \@f \1 o _1:7 W EE @r /-‘\@ 4-M3x.5Px7Thru
| T 230 i | f ih T & 2|5 o T o
_— B __ ] \ | S — K] el | I Ny
‘ 1\& — & 1] - —
Motor Adaptor Flange FO Motor Adaptor Flange F3
18.5 5930‘5 PCD40  4-Mdx.7PxBDP — - . b~ Sl
155 N - |_
g \
& 8| el e g I8 \
=] 31‘ 9 r‘sra’\&\\l ks et ' | B 39, ot g g ')'1’/ \\%L ;
= laj < En & ‘-&_—)é; ! @) ,‘:‘," fI B é O é?:\ I i{
No\ @"‘p&x:ff/(ﬁg R — ] e i N )] 8
P L4 max.5exe0P 4 ]I— /
Motor Adaptor Flange F1 Motor Adaptor Flange F4
= —10,_ PCDAE_ 4-Mdx.7PXI0DF - - 58 10_ 4MAX0.TPXI0DP
. . 7 _f__ 47.14 - //
e g | | F
=== P ESE s W — e S
— Jé}:l_ S8 "}?/ﬁ*@ . i Ao HE TSI i \?\é‘\
§ el
|
Motor Adaptor Flange F2 Motor Adaptor Flange F5
59 10 » PCDA5 4.M3x.5px=om7 5 : 25 zgasg;;u d

I

191

i

ol

43

/—/4—M3)\0.5P7hru



KK86

Motor Adaptor Flange FO

50
- 4-MAX0.TPREDP - "
s = == o iy
! el 2’ \
Q7T 1
= bereres o 5 ]
1 ©w
it J
______ L PR
h 2 {
35 l__ /-l

Lpcomo Y,
" PCDBO 14-M5x0.8P%10DP

T
——
-

@50'0%
162

=l

63

4-M4x0 7PxBDP

Motor Adapﬁt?or Fianqs F4

50

i
246
270'3%

L= ——r——f—

[ 180

s |

Motor Adaptor Flange F5
87 8

8- =
2 2 ‘

50 50
88 28 _ 150
i 18] -

‘[ﬁJ =  — [
ﬁ 3— |- 3%:'38 = slg e i
- | [F= ] 8™ -—'_ |80

| eSSy 90 — | ]
PCD46. 4-Md4x0.8Px8DP
Motor Adaptor Flange F3 Motor Adaptor Flange Fé
= 8 87 8
50 _ 85
85 28 T ET
gix | 4.1 | ‘

‘[BJ T . \E‘h i " le 'i__ ~

= ESEE [ = Wly o[ PY
115§ & 12 BE=—TT280 5 g*\@?}%ﬁ
B = | ol 48 -
P R ! | : L T O O s LAy
Zpcpas |\ - " 4-M4x0.8P%8DP _|
4-M3x0.5Px8DP
Motor Adaptor Flange FO
27
3z 99
- A 1
22 i ﬂ?ﬂ?%ﬂ 75
& b
of 1o L &
ﬂ_u — :‘ o L@ '
— b g, N L
Motor Adaptor Flange F1 Motor Adaptor Flange F3
b 12 12
82
35 4-Méx1Px12 DP 70
] | —
g [ ¢ % IEE ‘
5 S { L gls= o /
-k Bl [[5¢ R "
- LY L h e — e
Motor Adaptor Flange F2 Motor Adaptor Flange F4
94 4-M5x0.8Px12 DP 12 B2
8.5 "P.CD.90 80 4-Méx1Px12DP B 69.58
I . o '{}\o __r_|_ w r
= o | ool
= | | g 5% ol | -
a B E= ) ; 1T = 2
| + = S e o = P ) s 2|
e & Byl o i =1

70




1.7 E#iEsS AR TR

1

103

7.1 ASEE

KK40

58 4-M3x0.5Px4.5DP
g2 ) 2xn-@3.4Thru, 26.5%3DP
2x2-M2.6x0. 45P*4DP 20
10x1.2DP 5
26 iL -
18 i I Fi ] |
b MR el [F] [H® O|¢
4 W i | | e | N ——1 - 2
S ) ol i T = 3
B e N = =aPiea ] =row: | E
18 |11 i If.’ i 1
40 ‘ T 2 M2.6x0.45x4.50P I i
A-A L2
- L1 -
49
PCD29 /4-M340 5Px6DP 12 25 _
145
10 B
10 A N
J ,. * Branmn b
Q[‘g 5 P ol e | == & [ — 'é View B
3 U : IS I8
i LT .‘” T |_[:1| B ——
View B | " & 5
(n-1}x60
HERE L2 BRX{TIE (mm) EE (kg
ERLU (mm) - G (mm) n (mm) = .
(mm] A1 5B EE A2 B Al B A2 BB
100 159 36 - 20 0.48 =
150 209 86 34 15 0.6 0.67
200 259 136 84 40 0.72 0.79
KK50 B
2xn-@4.5Thru, AT,
@ 8x4DP | (.30
2x2-M2.6x0.45Px4DP 15%1.3DP 4-M4x0.7Px6.5DP
35
28 o _:@} & o
] S e g?‘.’{? o] °
25 12.5 2-M3x0.5Px4DP i 57
50 K G
L2
A-A
L1
60
7 4-M3x0.5Px6DP 14 34
_PCD33 / W 65
/ i i % 10
A e A T &
Tk \ — B N .
10 ‘\\ﬁ\ \ WTH» gTF———71 ___ql :[ View B
B9 el - —} & e ———= | -l== &
I ?a\ﬂ_ ’ﬁ 5/ + = P 1 - -
N =
View B 80 G|
(n-1)x80
NERE =2EL BRAITE (mm) S8 (kg)
- - G [mm) K [mm) n 3 .
L2(mm)  (mm) A1BEE  A2BE ABEE  A2BE
150 220 70 - 35 80 2 1 -
200 270 120 55 20 160 3 il 1.4
250 320 170 105 45 160 4 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8




3 1 [V
& 51 4-M5x0.8Px8DP
KK60 (15 3) z
16x1.50P / ©9.5x4.7DP
;é | {‘_{} ‘;“": A &+ [ & HE: i
P | © OHpe[*[¥IHOH .
2 ] e e M| — el 2
. F"“W;*T 2[R @ Il &8 e B B
30 15 il |—‘—| il
= 60 o ‘ 2-M2.6x.45Px3DP' 6
I « | & =5
A-A L2
L1
PCD40 ,4-Mdx TPx8DP .5
o 185 _ 305
] o4 \\%\ L j%f
= e e || N R [
3 &; H # | /] r—|_l"l':"——1_| rq' S
o [ \_\\7){/' || | — ".; 1 T T — —— ta| ViewB
e/ \ff)efﬁ\s \ré’,f" M H ‘ * ]3: » s
L a-max.5pxe0P ™/ [ ‘ L1
b ‘; 100 G
) (n-1)x100 i -
BEREL2 £RL BXITE (mm) simml Kimml n . EE kgl
(mm) Imm]  A1IBEE A2 BEE A1 BEE A2 BEE
150 220 60 - 25 100 2 2 1:5 -
200 270 110 - 50 100 2 2 1.8 -
300 370 210 135 50 200 3 2 2.4 27
400 470 310 235 50 100 4 4 3 3ed
500 570 410 Skl 50 200 B 3 3.6 39
600 670 510 435 50 100 6 6 4.2 4.6
KK60 (EE 52 .
2xm-M2.6x.45Px4DP 28 /—M5XU-BPXSDP
N
e o= S
: ;; r U 7] | |V
e { I & T HEY—
Jren | ——— L e 1 b ]
LT 1 cmHa 77777\7T¥i777 | E——r ‘ B
| [ el & & el el
|30 |15 n_J ' I
60 ‘ ' 2-M2 6x.45Px3DP' ‘ 6
K G
A-A L2
L1
PCD40 4-M4x. TPx8DP .59
185 _ 305
/ . % il TE._: "
T — /\ \f.f‘a T— 1 i |
P 3{( AN A z
g @”I\;}:Ee i# _______ /L ___diJ_':'—'_'r___ 77&:,7 ks
™ \ b & S i 18 !
.d{ Mh@%f)g\e Y/ o } o e
T ﬂ = ; i T3 5
L4-M3x.5Px8DP e o = e
View B o
100 G
{n-1)x100
PEREL2 2RL1 BRXITE (mm) G(mm) K(mm] n i S kgl
(mm]) (mm)  S1;BEE S2BEE S1 ;B S2 /B
150 220 85 34 25 100 2 2 1.4 1.6
200 270 135 184 50 100 2 2 15 19
300 370 235 184 50 200 3 2 23 2.5
400 470 gah 284 50 100 4 4 29 2
500 570 435 384 50 200 5 3 3.5 3.7
600 670 535 48B4 50 100 6 6 4.1 43

SHAC 194



KK86

116
75 | 4Mexpxazop
44 2xn-@6.6Thru, & 11x6DP
p— Protloilic il
@§ j","l— & ol 7;959 - @ _ :
IR spmimcirpepronan = — _ : ]
ol & QlelbelP o ' E
1 2-M2.6x.45Px4DP 75
A-A 2xm-M2.6x0.45Px4DP 200 H
(m-1)x200 87
23 50
13 _28_ =
A 1 g
_’- g-‘r ! = - -
e o e SR B ittt AJEE 1 95| Views
e il 3 . L I 8 g
Lid Ll o | N B | B -
A 100 70 35 ||
(n-1)x100
View B L t? N
NEEEL2 =2EU1 EBX{TE(mm) s o S (kg
(mm]) (mm]) A1 BEE A2 BEE A1 BEE A2 iBEE
340 440 210 100 70 3 2 57 6.5
440 540 310 200 20 4 3 6.9 7
540 640 410 300 70 5 2 8.0 8.8
640 740 510 400 20 6 4 9.2 10.0
740 840 610 500 70 bl 4 10.4 12
940 1040 810 700 70 9 b 11.6 124
1;?6 4-M8x1.25Px15DP
2"”“""2'6‘0'45':"4':":\ ., 20500 - 2xn- @ 9Thru, @14x8.5DP
R v | S Te
- & / — @] [ e LJ & [FD i
v [ jl;_ ___E-_'__g\@___ _33— -%_" )
[Te] / 4
N 4l s @ 4 @] [ epne [P |
AL i : :
50 |25 | i ‘ 4-M3x0.5Px6DP Bl e
100 00 H
A-A (m-1)x200
L2
L1
94
9 27, 4]
?: 4-M5%0.8Px10DP 32 5._
‘ | __15 22 =
JL/;;\;RQ % | =% U
ol ped i 4—1:‘—n__':q‘ I
N &’%—y%%/i\"" il ~ _____._,“:"I_.______?“_r____._____ Qi == % —
j_ﬂ? f‘ﬂ; ‘f@ é'f/'f O = i P E ] r'—_\_;: ________ A1 Ob——— =]
! "1 ‘ A L A7 s d. @ ._‘
REDT0®  wisws (n-1)x150 |
PEREL2 2RL1 BRAITE (mm) FE (ka)
. . G(mm) H[mm) n m N .
(mm) (mm]  A1BE A2 TBHEE Al B A2 SRR
980 1089 828 700 40 90 i 5 18.6 20.3
1080 1189 928 800 113 40 8 6 203 22.0
1180 1289 1028 900 65 90 8 6 22.0 257
1280 1389 1128 1000 40 40 9 7 23.6 253
1380 1489 1228 1100 15 90 10 7 25.3 27.0

195



1.10.2
KK40

'_—‘i'-‘éég

[==]k=]

2x2-M2.Bx0.45Px4DP

25

L 2x2-M3x0.5Px4DP
/,/4—M4x0.7 Px14DP
/2xn-®3,4Thru, @6.5x3DP

_.'i__

e

39.6

|
L1
49
10 12,25
4-M3x0 5PX6DP ‘ A 1‘3_
] " L & & g;‘\ ______%____
i _— _ — — 8 ]
5 " 7 T H o L Z| ViewB
gl - Py } 8
' L I/ R L .
1 " = 60 G
Views (n-1)x60
BEREL2 =Z=RLU BRAITIE (mm) & i) . & kg)
(mm]) (mm) A1 B A2 B Al SBEE A2 BEE
100 59 36 - 20 2 0.55 -
150 209 86 34 i3] 3 0.68 0.76
200 259 136 84 40 3 0.82 0.89
2x2-M2.6x0.45Px4DP | 2xn-@4.5Thry,
. \ @8x4DP » :g = 4-M4x0.7Px10DP
2 \ =
h 45 \ S I 5
= T ] 2
T & . T TS
oy i 2x2-M3x0.5Px4DP-— __|8(19.5 5l
50 T g
A-A _ L1
60
— / 4-M3x0.5Px6DP 14 34
l
T v 5, ; - r — =
T \ FS\{I \;j\ & N Cr‘l: “:—i'“' T = 78' o View B
Ahl)y— & e = 2
WK o o 1 o o/ R N i ——— - 4
of 2 — Tr : .
t N i ) L.
A
View B 80 G
(n-1)x80
NEREL2 2R B X172 (mm) e R S kg)
(mm) (mm) Al BEE A2 BEE Al TBEE A2 SBEE
150 220 70 - 35 80 2 1.1 -
200 270 120 5h 20 160 8 158 1.5
250 320 170 105 45 160 3 1.6 18
300 370 220 155 30 240 4 1.8 2.0

SHAC 1%



KK60 (1ZEH)

88 o 4-M5x0.8Px8DP
74 .
:3 ‘ 2xm-M2.6x.45Px4DP\ “ S P Ty
| ! U i ,ir v =
T : Fil / e
4 HE2E | 0 )
o e¥ 3 _0) i
2o - GT :} 5 Y T E——=—==f—== - === O &
B = P ‘ ol e e e
015 T T T T[eaiel |
2x2-M26x0.45Px4DP— 8| 23
A-A | K G
L2
L1
PCD40 4-Mdx.7PxBDP 59
/\ 4 185 305 ‘
— >, 25 [ P 1 “
3, R | e T ]l (D 1 -
2 bm e g i it i . =i
" {4m3x5PxeDP e ' S
View B Lﬁ i a
(n-1)x100
PEREL2 2RL1 BX{TEE (mm) stmml Klmml n " £ (kg)
(mm) (mm)  A1BEE A2 BHEE Al BEE A2 BEE
150 220 60 - 25 100 2 2 1% -
200 270 110 - 50 100 2 2 2 -
300 370 210 135 50 200 3 2 2.7 3.0
400 470 310 235 50 100 4 4 33 3.6
500 570 410 335 50 200 5 3 39 4.2
600 670 510 435 50 100 6 ) 4.6 5.0
KK60 (555 5Y)
59
86 —2—
74 2xm-M2 8x 45PX4DP 14 o '2'M5x°'ap"§2:% S
6d 9 5x4.7TDP
B —_— —
g .
I i
i
77777 B
A-A L2
L1
PCD40 2-M4x 7PX8DP ~ 59
\ / . 185 15_350.5
e 2 \ \‘PI‘\, I ] 2 ~
o | \?\{ &) i [ g
3 ¢|\\§k ) els] ] ————— e T = m| ViewB
dl o[PS T /l ! v =S 8
" i spxenp dJf e ! - 1o i
View B | 0 | .
(n-1)x100
NEREL2 ERL1 BRX{TE (mm) 6tmml Kimm) n " £ (kg)
(mm) (mm)  S1;BEE S2 iBEE S1iBEE S2 iR
150 220 85 34 25 100 2 2 16 18
200 270 135 184 50 100 2 2 i) 2.1
300 370 235 184 50 200 3 Z 25 27
400 470 335 284 50 100 4 4 3.1 3.3
500 570 435 384 50 200 5 B 3.7 3.9
600 670 535 484 50 100 6 6 b4 4.6

191



KK86

~4-M&x1Px12DP

46 -
—2— 2xn-@6 8Thru, @ 11x6DP
Lz 7
|
|
: 4
!
(m-1)x200 87
4—M4x0.7PxSDP\ & A l§| n Rt
N o ~ g £
SNARL P ] p——— 5
T t I - : - 2| oﬁa View B
o . ¥ s [T e § =
e u"?f"’] : ' . 8
AT /
PCD70! '\ 4-M5x0.8Px10DP
View B
MEREL2 =RL1 =RXITE(mm) il - S (k)
(mm) (mm) A1 BEE A2 BEE A1 BEE A2 iBEE
340 440 210 100 70 8 i 6.5 i
440 540 310 200 20 4 3 7.8 8.6
540 640 410 300 70 ) 3 9.0 9.8
640 740 510 400 20 6 L 10.3 11.3
740 840 610 500 70 7 4 11.6 12.4
940 1040 810 700 70 2 5 13.0 13.8
1426
95 4-M8x125Px15DP
4-M3x0.5PX6DP-__ g £ i
areM2Gxd ASE KL T | i 2xn-@8Thru, @14x8.50P
X [ _ g el I
PIEEEEET e o e e e S 1ll e —
00 200 H _"f’_
AR N (m-1)x200 i
L2
L1
- 94 -
27__ 45
A 32
== 22| N
S S R I i
.l -:+ ________ }‘_!Z.q g View B
ST 777777777‘!’7777.77777777]7 l7 I £
SR o O———- -
| P
A 150 G
(n-13x150
HEREL2 =R U BAITIE (mm) E& (kg)
3 - G(mm) Hlmm) n m - -
(mm] (mm) Al BEE A2 iBEE A1 BEE A2 SBEE
980 1089 828 700 40 90 7 5 20.4 22
1080 1189 928 800 15 40 8 6 227 23.9
1180 1289 1028 900 65 90 8 6 24.0 257
1280 1389 1128 1000 40 40 9 ¥ AL 27.4
1380 1489 1228 1100 15 90 10 7 2h 29.2

SHAC 198






B R 8 & B SR 1R R

KH

0/ GI01010H0IONOIE:
1
I e | m——
A TATATATAT AV T
B
- EAEERT
Al gk N%ggg& 58 ER R Dimensions (mm) BASIC LOAD RATING
Weight g g
b LN OEOE\;,?',;L (g) d 5 B DYNAMIC STATIC
C(kgh) Co(kgf)
KH0824 4 11.3 8 15 24 44 29
KH1026 4 14.4 10 17 26 51 38
KH1228 5 18.1 12 19 28 63 52
KH1428 5 20.6 14 21 28 63 52
KH1630 5 272 16 24 30 82 63
KH2030 6 32.7 20 28 30 97 81
KH2540 6 66 25 35 40 203 170
KH3050 7 95 30 40 50 286 276
KH4060 8 180 40 52 60 449 454
KH5070 9 250 50 62 70 561 643
M [F| [20] [L]| UU—AJ
‘ BRE
LM:2# R~ AJ| AER
i T MER ] op BOM
T - mEHE
;M;]‘% ¥ LT
MNELEEE]
KHGEE S
AE T - | EEEW - | EEE
STESBHEH F | E%M L| mEH
EE| — K| 5B | A BBEER
H| BZE#W C|EBRESL

SHAC 200



ERBE#HRRY (WEE

ST...UU
ST...UUB
it
BERE
rounte
(max)
ST 8UU 14
ST 10UU 16
ST 12UU 1T
ST 16UU 24
ST 20UU 32
ST 25UU 32
ST 30UU 65
ST 35UU 75
ST 40UU 91
ST 45UU 91
ST 50UV 120
ST 55UU 120
ST 60UU 120
ST 70UU 120
ST 80UU 114
ST 90UV 114
ST 100UU 114

201

EEXBERGTE
Basic Load rating
C Co
kN kN
0.98 0.27
2.35 0.62
4.02 1.08
4.02 1.27
4.12 5
4.12 1.76
9.31 4.12
9.31 4.51
9.41 6.18
12.5 6.76
12.6 8.82
16.3 9.71
16.6 10.5
16.8 11.7
24°3 158
21.7 16.9
22.0 18.3

EE
Weight

gr

17
31
49
80
112
132
245
375
580
635
920
1280
1370
1540
2240
2470
2700

R BR
Type

ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

20UUB
25UUB
30UuB
35UUB
40UUB
45UUB
50UUB
55UUB
60UUB
70UUB
80UUB
90UUB

ST 100UUB

=N

iTi2
Travel
rounte
(max)

12
12
27
37
49
49
70
70
70
70
58
58
58

EXBERGTE
Basic Load rating
Cc Co
kN kN
8.33 3.24
8.14 3.63
18.7 8.14
18.7 9.02
25.0 12.4
25.2 13.5
825 17.7
33.0 19.3
33.6 21.0
33.8 23.3
42.5 30.6
43.3 33.7
43.9 36.8

EE
Weight

gr

125
145
280
420
640
705
1030
1400
1490
1680
2450
2700
2940



mm

10
12
16
20
25
30
35
40
45
50
55
60
70
80
90

100

L
1-d el 1-d 1-d . el 1-d
\ WE I \ LT /S
t l Y _} t [,
1 m # e o
W W I [ U 000000 4]
D wl dr D dr
Il
© O O mmm|| l 000000 =
I y"—-— —)
ST-UU ST-UUB
F E R st Main Dimensions
kS B =
dr . L el T t d r
BRE mm BE mm BRTE
um um um
0
. 15 e 24 15.3 15 0.5 15 0.5
+0.013 19 30 32 18.5 1.5 0.5 1.5 0.5
0027 23 0 32 20.1 15 0.5 15 0.5
+0.016 28 TR 37 24.1 1.5 0.5 1.5 0.5
59 45 30.8 2 0.5 2 0.5
0
g% 37 0011 45 30.8 0.5 1
45 65 50.1 2.5 0.5 2.5 1
52 70 55.1 2.5 0.7 2.5 1.5
<004 60 80 0 64.9 2.5 0.7 2.5 1.5
+0.025 65 80 03 64.9 25 0.7 25 1.5
72 0 100 83.4 3 1 3 1.5
80 0013 100 83.4 3 1 3 2
— 85 100 83.4 g 1 3 2
+0.030 95 100 83.4 3 1 3 2
110 5 100 0 83 3 1.5 3 2
0058 120 0015 100 it 83 3 1.5 3 2
+0.036 0
130 018 100 83 3 15 3 5



B R RS

LM...UU LME...UU LM...CUU LME...CUU

LM

LM3UU
LM 4UU
LM 5UU
LMBUU
LM 8SUU
LM 8UU
LM 10UU
LM 12UU
LM 13UU
LM 16UU
LM 20UU
LM 25UU
LM 30UU
LM 35UU
LM 40UU
LM 50UU
LM 60UU
LM 80UU
LM 100UU
LM120UU
LM150UU

LME

LME4UU

LMESUU

LME8UU
LME10UU
LME12UU
LME16UU
LME20UU
LME25UU
LME30UU
LME40UU
LME50UU
LMEBOUU
LME8OUU

203

\

LM...C

LM3 CUU

LM4 CUU

LM5CuUU

LM6 CUU

LM8 CSUU
LM8 CUU

LM10CUU
LM12CUU
LM13CUU
LM16CUU
LM20cuu
LM25CcUU
LM30cuu
LM35¢cyu
LM40cuUU
LM50cyUU
LM6oCUU
LM8oCuUU
LM1p00CUU
Lmi20CUU
Lm150CUU

LME...C

LME4CUU
LMES5CUU
LME8CUU
LME10CUU
LME12CUU
LME 16 CUU
LME20CUU
LME25CUU
LME 30CUU
LME 40CUU
LME50CUU
LME60CUU
LME80OCUU

2

LM LM...C
LME LME...C

o] 2 {4 5 £R 5 R B iR 3 X

B & AIYE Designation

ERFIE

Ball circuit

4
4
4
4
4
4
4
5
5
5
6
6
6
6
6
6
6
6
6
8
8

A& EIGE Designation

AU

= LM...AJ
Weight (9)  (h B s e )
1.35 -
1.9 -
4 .
8 LMB-AJ
1 LM8-AJ
16 LMB8-AJ
30 LM10-AJ
31.5 LM12-AJ
43 LM13-AJ
69 LM16-AJ
87 LM20-AJ
220 LM25-AJ
250 LM30-AJ
390 LM35-AJ
585 LM40-AJ
1580 LM50-AJ
2000 LMB0-AJ
4420 LM80-AJ
8600 LM100-AJ
14900 LM120-AJ
20150 LM150-AJ
=52 LME...AJ
Ball circuit Weight (g) (P B 2 e B
1.9 -
11 LMES5-AJ
20 LMES8-AJ
29.5 LME10-AJ
41 LME12-AJ
L LME16-AJ
91 LME20-AJ
215 LME25-AJ
325 LME30-AJ
705 LME40-AJ
1130 LMES50-AJ
2050 LMEBO-AJ
5140 LMEBO-AJ

D OO O O O o0 o0 o 00 & & & B

LM...AJ
LME...AJ LME...CAJ

LM...OP
(R E)

LM10-0OP
LM12-0OP
LM13-0P
LM16-OP
LM20-0OP
LM25-0P
LM30-0OP
LM35-0P
LM40-0OP
LM50-0OP
LM60-OP
LM80-0OP
LM100-OP
LM120-0P
LM150-OP

LME...OP
(FmE)

LME10-OP
LME12-OP
LME16-OP
LME20-OP
LME25-0OP
LME30-OP
LME40-0OP
LMES50-0P
LMEG0-OP
LMEB0-0OP

LM...CAJ

M...OP

‘g

LM...COP

LME...OP LME...COP

R~t#142 % Major dimensions and tolerance

dr (mm)

100
120
150

4y # Tolerance (mm)

4B PrecisionJ
(=)

-0.005

-0.006

-0.007

-0.008

-0.009

0
-0.010

-0.013

#4 & Precision P
(EiEAR)

-0.008

-0.009

-0.0010

-0.0012

-0.0015

0
-0.020

-0.025

R=t#04>% Major dimensions and tolerance

Dr(mm)

10
12
16
20
25
30
40
50
60
80

4y# Tolerance (mm)

5 Precision J
(BB

#5 & Precision P
(B IEAR)

+0.008

+0.009
-0.001

+0.011

-0.001
+0.013
-0.002

+16
-4



D

i
8
10
12
15
15
19
21
23
28
32
40
45
52
60
80
90
120
150
180
210

D

8
12
16
19
22
26
32
40
47
62
75
90

120

hE

-0.009

-0.011

-0.013

-0.016

0
-0.019

-0.022

0
-0.025

Q
-0.029

nE

0
-0.008

0
-0.009

0
-0.01

0
-0.013

0
-0.015

L

10
12
15
19
17
24
29
30
32
37
42
59
64
70
80
100
110
140
175
200
240

L

12
22
25
26
32
36
45
58
68
80
100
125

165

nE B

-0.12
10.2

13.5
ik
17.5

23
23
26.5
30.5
41
44.5
0 495
60.5
74
85
105.5
0 1255
158.6
170.6

i B

0

-0.12 2
14.5
16.5
22

0

-0.2 22.9
24.9
31.5
441

0 52.1

0%
60.6
77.6

5 101.7

-0.4 133.7

nE
(mm) Tolerance(mm) (mm) Tolerance(mm) (mm) Tolerance(mm)

LM LM...C
LME LME...C

R~t#4y# Major dimensions and tolerance

w
(mm)

1.1
1:1
1
1.1
1.3
1.3
1.3
1.6
1.6
1.85
1.85
2:1
21
2.6
3.15
4.15
4.15
4.15
5.15

w
(mm)

1.1
1=l
1.3
133
1.3
1.6
1.85
1.85
2415
2.65
3.15
4.15

D1
(mm)

9.6
11.5
14.3
14.3

18
20

22

27
30.5

38

43

49

57
76.5
86.5

116
145
175
204

R-t#n4+# Majordimensions and tolerance

RE
(mm) Tolerance(mm) (mm) Tolerance(mm) (mm) Tolerance(mm)

D1
(mm)

11.5
15.2
18
21
24.9
30.3
37.5
44.5
59
72
86.5
116

(mm)

1.5
1.5
1.5
15

2.5

W W W W W W W

(=]

W W W Ww NN N

LM...AJ

LM...CAJ

LME...AJ LME...CAJ

(mm)

105

6.8
7.0
10
10
12.5
12.5
16.8
21
27.2
36.3

80°
80°
80°
80°
60°
50°
50°
50°
50°
50°
50°
50°
50°
80°
80°

f==]

80°
78°
78°
60°
60°
50°
50°
50°
54°
54°

LM...OP
LME...OP
Ao
D%jn%nﬁfc aé’tgtﬁ
CN CoN
69 105
88 127
167 206
206 265
176 216
274 392
372 549
510 784
510 784
774 1180
882 1370
980 1570
1570 2740
1670 3140
2160 4020
3820 7940
4700 10000
7350 16000
14120 34800
16400 40000
21100 54300

oj
Ratings load

§§E§§§L
CN
88
206
265
372
510
578
862
980
1570
2160
3820
4700
7350

=R

tatoc
CoN

127
265
402
549
784
892
1370
1570
2740
4020
7940
9800
16000

LM...COP
LME...COP

ZHhAREITE
Specifi
cation
Type
LB 3UU
LB 4UU
LB 5UU
LB 6UU
LB 8UU
LB 8uU
LB 10UU
LB 12UU
LB 13UU
LB 16UU
LB 20UU
LB 25UU
LB 30UU
LB 35UU
LB 40UU
LB 50UU
LB 60UU
LB 80UU
LB 100UU
LB120UU
LB150UU

ZMFEGE
Spgmﬁ
cation
Type
LBE 4UU
LBE 5UU
LBE 8UU
LBE10UU
LBE 12UU
LBE 16UU
LBE20UU
LBE25UU
LBE30UU
LBE40UU
LBES50UU
LBEGOUU
LBE8OUU

SHAC 204



EEFEHERT

LMB...UU LMB...LUU

LMB LMB...C LMB...L LMB...CL

&AL Designation

Eg LMB...AJ
LMB LMB...A  Ballcircuit Weight (g) (GIEE R0
LMB3UU LMB3CUU 4 5
LMB4UU LMB4CUU 4 10 -
LMBBUU LMBSCUU 4 15 =
LMB8UU LMB8CUU 4 42 LMB8-AJ
LMB10UU LMBi0CUU 4 64 LMB10-AJd
LMB12UU LMB12CUU 5 101 LMB12-AJ
LMB16UU LMB16CUU 6 220 LMB16-AJ
LMB20UU LMB20CUU 6 465 LMB20-AJ
LMB24UU LMB24CUU 6 720 LMB24-Ad
LMB32UU LMB32CUU 6 1310 LMB32-AJ
LMB40UU LMB40CUU 6 2600 LMB40-AJ
LMB48UU LMB48CUU 6 4306 LMB48-AJ
LMBB4UU LMB64CUU 6 10200 LMB64-AJ
sl & % Designation
itk b
Type Ball circuit BHE LMB...AJ
Weight (g) ([ PR3 B &)
LMB 04L LMB 04CL 3 20 —
LMB O6L LMB 06CL 4 30 -
LMB 08L LMB 08CL 4 84 LMB8-AJ
LMB10L LMB 10CL 4 128 LMB10-AJ
LMB12L LMB 12CL 5 202 LMB12-AJ
LMB16L LMB 16CL 5 440 LMB16-AJ
LMB 20L LMB 20CL 6 930 LMB20-AJ
LMB24L LMB 24CL 6 1440 LMB24-AJ
LMB 32L LMB 32CL 6 2620 LMB32-AJ

205

) &

LMB...AJ LMB...CAJ

LMB...OP
(AR E)

LMB8-OP
LMB10-OP
LMB12-OP
LMB16-OP
LMB20-OP
LMB24-OP
LMB32-OP
LMB40-OP
LMB48-OP
LMB64-OP

LMB...OP
(PR E)

LMB8-OP
LMB10-OP
LMB12-OP
LMB16-0OP
LMB20-OP
LMB24-OP
LMB32-0OP

o 1 {H 8 £ 157 58 B R 3 R
LMB...CUU LMB...CLUU

LMB...OP LMB...COP

R~Ff42 Major dimensions and tolerance

dr(mm)

4% Tolerance (mm)

¥EE Precision J & & Precision P
(HEER) (EHiEAR)
4.763(3/16")
6.350(1/4") 0 0
9.525(3/8") -0.006 -0.008
12.700(1/2")

16.875(5/8")

. 0 0
19.050(3/4") -0.006 -0.010
25.400(1")

31.750(1 172"

. 0 0
SR -0.008 -0.012
50.800(2")

63.500(2 12") 0 0
76.200(3") -0.009 -0.013
101.600(4") ot hooe

R-tfaz
EAS
dr(mm) i+ # Tolerance (mm)
# B Precision J #% BE Precision P
(EER) (EiE )

6.350(1/4" ) —8.006 78.009
9.525(3/8" )
12.700(1/2" )

” 0 0
19870818 ) -0.006 -0.010
19.050(3."4" )

25.400(1" )

31.750(114" )

B 0 0
38.100(112" ) -0.008 .0.012
80.800(2" )



LMB...OP

LMB LMB...AJ
LMB...C LMB...CAJ LMB...COP
LMB...L
LMB...CL
R=~F#4y%& Major dimensions and tolerance %ﬁ%ﬁiﬁ
D 2 L 2 2 W D1 f E BE - BR B
(mm) Tolﬁ_lrlg"nce (mm) To}el_:"rﬁ_lrice (mm) Tol(er:?nrice (mm) (mm) (mm) (mm) Dg?;!rfr;lc cgt;n;ngc') Type
9.525(3/8) 0 14.288(9/16) 10.94 0.714 8910 - . . 14 17 LMB3UU
12.700(1/2) 911 19.050(3/4) 12.95 0.992 11906 - - - 21 27 LMB4UU
15.875(5/8") o 22.225(718") 1615 0.992 14.935 - . . 23 32 LMBBUU
22.225(7/8") 013 31.750(114") -0.2 2446 -0.2  1.168 20.853 1.5 9 . 52 79 LMB8UU
28.575(1 178") 38.100(1 112") 28.04 1.420 26.899 1.5 1 80° 70 100 LMB10UU
31.750(1 11a") _3.16 41.275(1 si8") 29.61 1.422 29.870 1.6 1 80° 88 140 LMB12UU
39.688(1 9/16") 57.150(2 1/4") 44.57 1.727 37.306 1.5 12 60° 100 160 LMB16UU
50.800(2") 0 66.675(2 5:8") 50.92 1.727 47904 2.5 15 50° 160 280 LMB20UU
60.325(22") 019 76.200(3" _3_3 61.26 _8_3 2.184 56.870 3 18 50° 220 410 LMB24UU
76.200(3") 101.600(4") 81.07 2,616 72.065 3 25  50° 390 870 LMB32UU
95.256(3 214") _8_22 127.000(5") 100.99 3.048 90220 3 30 500 480 1020 LMB40UU
114.3(4 112") 152.400(6") 120.04 3.048 109.474 3 40  50¢ 150 1630 LMB48UU
152.4(8") 025 203.2008" -04 158958 -0.4 3530 145923 3 50  5g° 1440 3550 LMB64UU
F = R st main dimensions m
-
gt 4 o | i o B
diameter erdiameter g uterlocxking groove W Ecoentiricity (max) Dynam‘ic Sta'tic
dr 2% D _A# | _BE B _A% pq clkgh  cO (kgf)
Tolerance Tolerance Tolerance Tolerance
¥ %% Sore 5 T S
¥ oo W N Em o O% . %
e 00t 3% 030 g, 020 YL opE @ 160
15875 bas7s A% *€6.08 ase T 126 240
fa0s 0 sis 0 o s 531 ey ez . 140 280
ssa e 88744 %50, 139 %8s 9% ' 160 320
s ool Lo sl e [ e 255 560
WE Gows WEs CPOEE  GEE, T cay opy | s 20
g0.8 L %6158 258 "2%ie 0.030 620 1622

SHAC 206



EEFEHERT

LM...LUU LME...LUU

ik 4
Type

LM3LUU
LM4LUU
LM5LUU
LM6LUU
LM8LUU
LM10LUU
LM12LUU
LM13LUU
LM16LUU
LM20LUU
LM25LUU
LM30LUU
LM35LUU
LM40LUU
LM50LUU
LMBOLUU

LM3CLUU

LM4CLUU

LM5CLUU
LM6CLUU

LM8CLUU

LM10CLUU
LM12CLUU
LM13CLUU
LM16CLUU
LM20CLUU
LM25CLUU
LM30CLUU
LM35CLUU
LM40CLUU
LM50CLUU
LMB0CLUU

8k
Type

LME 8LUU
LME12LUU
LME 16LUU
LME 20LUU
LME 25LUU
LME 30LUU
LME 40LUU
LME 50LUU
LME 60LUU

207

LME8SCLUU

LME12CLUU
LME16CLUU
LME20CLUU
LME25CLUU
LME30CLUU
LME40CLUU
LME5S0CLUU
LMEBOCLUU

o 12 {1 8 R 15 20 B AR B R
LM...CLUU LME...CLUU

BKFI#

Number of ball rows

(=2 = B+ I = > B = B > T« » B & B ) IS | IS - S - S A S

b2 &1k

Number of ball rows

a O OO A

HE
Weight(gf)

145
180
440
580
795
1170
2100
3500

Weight(gf)

31
80
145
180
440
580
1170
3100
3500

?«T
Inscribed clecle diameter
dr Tolg'ance
3
4
L
2 -3.01 0
8
10
12
13
16
20
0
25 -0.012
30
35
0
40 -0.012
50
60 8.020

&
. 2 N
Inscribed clecle diameter

I\%
dr Tolé'rance
8 +0.009
12 -0.001
16 +0.011
20 '0400 1
25 +0.013
5 -0.002
40

+0.016
50 -0.004
60

SIUNIT:1N = 0.102kgp EfI: mm
EAPREE{:1N = 0.102kgf  Unit:mm

10
12
15
19
21
23
28
32
40
45
52
60
80
90

16
22
26
32
40
a7
62
75
90

Mg
Outer diameter
IA}
Tolerance

-0.013

-0.016

-0.019

0
-0.022

0
-0.025

B
Outer diameter

nE

Tolerance
0
-0.009

0
-0.011

-0.013

-0.015

0
-0.020



19
23
29
35
45
55
57
61
70
80
112
123
135
154
192
211

45

57

70

80

112
123
154
192
211

R_E
Length
lL\\
Tolerance

_E
Length
NE
Tolerance

20
27
35
44
46
46
53
61
82
89
99
121
148
170

33
45.8
49.8

61

82

104.2

121.2

1585.2
170

D1
D

lL\\
Tolerance

0
Tolerance

-0.3

-0.4

ifg1
11
il
1.3
1.3
1.3
1.8
1.6
1.85
1.85
2.1
2.1
2.6
3.15

1.1
1.3
1.3
1.6
1.85
1.85
2.5
2.65
3.15

D1

9.6
11.5
14.3

18

20

22

27
30.5

38
43
49
57
76.5
86.5

D1

15.2
21
24.9
30.5
38
44.5
59
72
86.5

R E
Eccentricity
(max)
pm

10
10
10
15
15
15
15
15
15
20
20
20
25
25
25
25

wBOE
Eccentricity
(max)
pm

15

gi7

20

25

EEEELZE
Radial
clearance
tolerance

-2
i3
=
-5
-5
-5
-5
3

-13
-13
-13
-16

Fedp[l-bie S
Radial
clearance
tolerance

15

20

25

SIUNIT:1N = 0.102kgp E{f:mm

ElBZ B 1N = 0.102kgf

BAR#HE

Basic load rating

CN CoN
139 216
139 254
263 412
324 529
413 784
588 1100
657 1200
814 1570
1230 2350
1400 2750
1560 3140
2490 5490
2650 6470
3430 8040
6080 15900
7650 20000

BARHE

Basic load rating
CN CoN
431 784
657 1200
1230 2350
1400 2750
1560 3140
2490 5490
3430 8040
6080 15900
7650 200000

Unit:mm

ZHREIGE
Specifi
cation
Type
LB3LUU
LB4LUU
LB5LUU
LB6LUU
LB8LUU
LB10OLUU
LB12LUU
LB13LUU
LBi16LUU
LB20LUU
LB25LUU
LB30LUU
LB35LUU
LB40LUU
LB50LUU
LB60OLUU

EWAREIGE
Spgcm
cation
Type
LMB 8LUU
LMB12LUU
LMB16LUU
LMB20LUU
LMB25LUU
LMB30LUU
LMB40LUU
LMB50LUU
LMBEOLUU

SHAC 208



EfRE

F-__.:_...
—j.-—"" - —
—
'-._--' —___.-

LMF
LMFE

B %R R

LMF 6UU

LMF 8SUU
LMF 8UU

LMF 10UU
LMF 12UU
LMF13UU

LMF16UU

LMF 20UU
LMF 25UU
LMF 30UU
LMF 35UU
LMF 40UU
LMF 50UU
LMF 60UU
LMF 80UU
LMF 100UU

BEME

LMEF8UU
LMEF12UU
LMEF16UU
LMEF20UU
LMEF25UU
LMEF30UU
LMEF40UU
LMEF50UU
LMEF60UU

209

HF RS

LMFC
LMFEC

ASEType

o] i {4 8 £R 55 R B iR # R L

LMK LMKC
LMKE LMKEC

&8
FEWE  mEEmm KB
LMK 6UU LMH 6UU 4 26.5
LMK 85UU - 4 34
LMK 8UU LMH 8UU 4 40
LMK 10UU LMH10UU 4 78
LMK 12UU LMH12UU 4 76
LMK 13UU LMH13UU 4 94
LMK 16UU LMH16UU 5 134
LMK 20UU LMH 20UU 5 180
LMK 25UU LMH 25UU 6 340
LMK 30UU LMH 30UU 6 460
LMK 35UU - 6 795
LMK 40UU - 6 1054
LMK 500U - 6 2200
LMK 60UU - 6 2960
LMK 80UU - 6 5800
LMK 100UU - 6 10600
BSEType =
pmm R T
LMEK8UU 4 44
LMEK12UU 4 86
LMEK16UU 5 120
LMEK20UU 5 184
LMEK25UU 6 335
LMEK30UU 6 545
LMEK40UU 6 1185
LMEKS50UU 6 1730
LMEKB60OUU 6 3180

LMH
LMHE LMHEC

HFRE
mRE
(um)
-5
-5
-5
-5
-5
-7
-7
-9
-9
-9
-13
-13

FFHAE
BAE
(um)

-13
-13
-16

LMHC

A s TA

EXEHE RiE
# s E ) dr A%
C(N) Co(N) (mm)  (um)
200 260 6
170 220 8
260 400 8
370 540 10 8
410 590 12
500 770 13
770 1170 16
860 1370 20

0

980 1560 25 ~10
1560 2740 30
1660 3130 35
2150 4010 40 0

=

3820 7930 50
4700 9990 60 0
-15

7350 16000 80
0
14100 34800 100 _20

EERaHE EES
B BRfAE dr =
C(N) Co(N) (mm)  (pm)
260 400 8

+8

500 770 12 0

570 890 16
+9

860 1370 20 =1

980 1560 25
+11

1560 2740 30 -1
2150 4010 40
3820 7930 50 +!g
4700 9990 60

1N=0.102kgf




LMF  LMFC
LMFE LMFEC
SMED REL

/\%
(mm) (um) (MM) (mm) (MM) (mm)

12
15 0
~11
15
19
21 0
55 -13
28
32
0
0NN =1E
45
52
0
60 -19
80
0
90 —22
0
120 _9§
0
150 _5g
AMED
mm) &=
( )(um)
0
16 i
22 0
-9
26
32
0
40 =111
47
62 0
-13
75
0
90 -15

(mm

19
17
24
29
30
32
37
42
59
64
70
80
100
110
140
175

A

-300

REL
2N
(mm

25
32
36
45
58
68
80
100
125

)

-0.2

-0.3

-0.4

)

(m

D1

28
32
32
40
42
43
48
54
62
74
82
96
116
134
164
200

4N\

D1

m)
32
42
46
54
62
76
98
112
134

N3

(mm)

-0.2

-0.3

LMK LMKC
LMKE LMKEC

R~ (mm)
EISNEPE DY
L] 20 22
5 24 25
5 24 25
6 29 30
6 32 B2
6 33 34
6 38 37
8 43 42
8 51 50
10 60 58
10 67 64
13 78 75
13 98 o2
18 112 106
18 142 136
20 175 170
R~ (mm)

H PCD

5 24

6 32

6 36

8 43

8 51

10 62

13 80

13 94

18 112

18

21
25
27
29
34
38
46
51

25
32
35
42
50
60
75
88
106

20

24
29
32
33
31
36
40
49

HAE

(nm)

12
12
12
15
15
15
20
20
25

22
24
32
35

LMH LMHC
LMHE LMHEC
HfaE B3R
%  dixdzxh Type
(pm)
12 3.4X6.5X33 LMF/K/H 6UU
12 3.4X6.5X3.3 LMF/K 8SUU
12 3.4X6.5X3.3 LMF/K/H 8UU
12 45X8X4.4 LMF/K/H 10UU
12 4.5 X8 X4.4 LMF/K/H12UU
12 4.5X8X4.4 LMF/K/H13UU
12 4.5X8 X4.4 LMF/K/H 16UU
15 5.5X95X%54 LMF/K/H 20UU
15 5.5X9.5X5.4 LMF/K/H25UU
15 6.6 X11 X6.5 LMF/K/H 30UU
20 6.6 X11 X6.5 LMF/K/H35UU
20 9X14X8.6 LMF/K/H 40UU
20 9X14 X8.6 LMF/K/H 50UU
25 11 X17.5X10.8 LMF/K/H60UU
30 11X17X11.1 LMF/K/H 80UU
40 14X20X13.1 LMF/K/H 100UU
dixdzxh -?1! b
ype
3.4X6.56X3.3 LMEF/K 8LUU
45X8X4.4 LMEF/K 12LUU
4.5X8 X4.4 LMEF/K 16LUU
5.5X9.5X5.4 LMEF/K 20LUU
5.5X9.5X5.4 LMEF/K 25LUU
6.6 X11 X6.5 LMEF/K 30LUU
9 X14 X8.6 LMEF/K 40LUU
9X14 X8.6 LMEF/K 50LUU
11 X17.5X10.8 LMEF/K 60LUU

SHAC 210



E iR CERE)

o {2 R 3 (R IF R B iR # R

L
o /f:/"
3 / H
I —t [
8 ‘—\ / -OI_EE U!
LMKOL  LMKCICL N
LMEKCL  LMEKCIGL ] / al Ve 4 =
- l
P \ 2
LMHOL '
LMHLICL A;J
LMFOL  LMFCICL
LMEFOL  LMEFCICL
Sl /Re B AHE miE
=% %‘JFFHE
soiy RO @iz
= - (pm) dr b
EEMRE kiR AEE R I I | =
LMF 6LUU LMK 6LUU LMH 6LUU 4 3 -5 320 520 6
LMF 8LUU LMK 8LUU LMH 8LUU 4 53 -5 430 780 8
LMF 10LUU LMK 10LUU LMH10LUU 4 105 -5 580 1100 10 18
LMF 12LUU LMK 12LUU LMH12LUU 4 100 -5 650 1200 12
LMF13LUU LMK 13LUU LMH13LUU 4 130 -7 810 1570 13
LMF16LUU LMK 16LUU LMH16LUU 5 187 -7 1230 2350 16
LMF 20LUU LMK 20LUU LMH 20LUU 5 260 -9 1400 2750 20
LMF 25LUU LMK 25LUU LMH 25LUU 6 515 -9 1560 3140 25 _12
LMF 30LUU LMK 30LUU LMH 30LUU 6 655 -9 2490 5490 30
LMF 35LUU LMK 35LUU - 6 970 -13 2650 6470 35 0
LMF 40LUU LMK 40LUU - 6 1560 -13 3430 8040 40 S15
LMF 50LUU LMK 50LUU - 6 3500 -13 6080 15900 50
LMF 60LUU LMK 60LUU - 6 4500 -16 7650 20000 60 _28
LMEF8LUU LMEKS8LUU - 4 53 -5 430 780 8 9
+
LMEF12LUU LMEK12LUU - 4 100 -5 650 1200 12 -1
LMEF16LUU LMEK16LUU - 5 187 -7 1230 2350 16 +11
LMEF20LUU LMEK20LUU - 5 260 -9 1400 2750 20 =l
LMEF25LUU LMEK25LUU - 6 515 -9 1560 3140 25 +13
LMEF30LUU LMEK30LUU - 6 655 -9 2490 5490 30 a
LMEF40LUU LMEK40LUU - 6 1560 -13 3430 8040 40 18
.
LMEF50LUU LMEKS50LUU - 6 3500 -13 6080 15900 50 -4
LMEF60LUU LMEKB0LUU - 6 4500 -16 7650 20000 60
1N=0.102kgf

211



LMFLIL LMK[ICL
LMEFCL LMEK[CICL
AMED R EL
N N
(mm) A% (mm) AE
(nm) (mm)
12 0 35
15 -13 45
19 55
21 57 0
0 -0.2
23 =1 61
28 70
32 80
40 0 42
-19
45 123
52 . 135 0
0.3
60 a5 | 154
80 192
0
90 08 21
0
16 9 45
22 5 57 0
26 1] 70 0.3
32 80
0
40 450|112
47 123
0
62 o o| AEE | S
-15
75 192
0
90 20 21

LMKLIL
LMKE[IL
D1
FAS 2
(mm) L\%
(mm)
28 5
32 5
40 6
42 6
0
43 0.2 6
48 6
54 8
62 8
74 10
82 10
96 13
0
116 0.3 13
134 18
32 5
42 6
46 0 6
54 L 8
62 8
76 10
98 0 13
112 -0.3 13
134 18

LMFLICL

LMEF[ICL

R~ (mm)
PCD K
20 22
24 25
29 30
32 32
33 34
38 37
43 42
51 50
60 58
67 64
78 75
8 92
12 106
24 25
32 32
36 35
43 42
51 50
62 60
80 75
94 88
112 106

18
21
25
27
29
34
38
46
51

20
24
29
32
33
31
36
40
49

22
24
32
55

BHfAE
(um)

15
15
15
15
15
15
20
20
20
25
25
25
25

15
15
15
17
1177
17
20
20
25

LMHOIL
LMHLCICL

dixdzxh

34X65X3.3
3.4X6.5X3.3
4.5X8X4.4
4.5X8X4.4
45X8X44
4.5X8X4.4
5.5X9.5X5.4
55X9.5X5.4
6.6 X11 X6.5
6.6 X11 X6.5
9X 14 X8.6
9X14 X8.6
11 X17.5X10.8

3.4X6.5X3.3
4.5X8X4.4
4.5X8 X4.4
5.56X9.5X5.4
5.56X9.5X5.4
6.6 X11 X6.5
9X14 X8.6
9X14 X8.6
11 X17.5 X10.8

R &%
Type

LMF/K/H 6LUU

LMF/K/H 8LUU

LMF/K/H 10LUU
LMF/K/H 12LUU
LMF/K/H 13LUU
LMF/K/H 16LUU
LMF/K/H 20LUU
LMF/K/H 25LUU
LMF/K/H 30LUU
LMF/K/H 35LUU
LMF/K/H 40LUU
LMF/K/H 50LUU
LMF/K/H 60LUU

LMEF/K 8LUU
LMEF/K 12LUU
LMEF/K 16LUU
LMEF/K 20LUU
LMEF/K 25LUU
LMEF/K 30LUU
LMEF/K 40LUU
LMEF/K 50LUU
LMEF/K 60LUU

SHAC 212



2 557 ¥ 5% 52 B

% SCS(V) 20 L

| C
| C

SCS—LMZ %I % 7& Jg
SBR—LMZ 51| Bf [ & 7% & e AECHEHE
TBR—LMZ 5 B O T % 2 i 7 Je miE R
SCV—LMZ 5 8 45 &I o 7 JE e =
V—iBEa
HMANTRAEZE L—m=5

W SK 20

Sk—x7 308l 37 B T P
SHF—EBRst 81 3 EK

B % @) SB 20

SB—iH T # -
TB— g £ % 8, LR

HGREIMETHERRS

Linear motion ball slide units series

SCV...Uuu
o E
o 4 I
=] <
x
[0} ¥
I
v
KBALIS
pt0-02 4-82
4531 short Type EXAHE FER~F Dimensions (mm)
BE B HEHEERR
RlYE Eegsmge BE #BRE  WeightShaft Dia Type
Type Installed/s C(N) Co(N) (g) kil BB VA I NG A BT AE IS T <1l RS ORI iy
SCVBUU  LMESUU 260 400 40 $8 111734 22 18 624 5 M4x8 $3.4 144  KBABUU
SCv12UU LME12UU 410 590 82 ¢12 15 22 44 30 2458 3355M5x10 ¢4.3 20.3 KBA12UU
SCV16UU  LME16UU 770 1170 122 ¢16 19 25 50 38.532.5 9 36 7 M5x12 $4.3 22.3 KBA16UU
SCV20UU  LME20UU 860 1370 176  ¢20 2127 54 41 35 1140 7 M6x12 $5.2 28.3 KBA20UU
SCv25Uu LME25UU 980 1560 400 $25 26 38 76 51.5 41 1254 11 M8x18 ¢6.8 40.4 KBA25UU

SCV30UU LME30UU 1560 2740 570 $30 30 39 78 59.5 49 1558 10 M8x18 ¢6.8 48.4 KBA30UU
SCV40UU  LMEA40UU 2150 4010 1320 $40 40 51102 78 62 2080 11M10x25¢8.6 56.4 KBA40UU
SCV50UU LMES0UU 3820 7930 1900 650 52 61122 102 80 2410011 M10x25¢8.6 72.3 KBA50UU

213



EfRBEETERARI

SBR..UU SBR...LUU

L
Cx0.2
[
THNTI (NN
Iy !ﬂ | l|} 1
o o : o
\\5 =V L i o
e |
\ & |
‘ |
i
E+0.02
w 4-s
B+0.02 d
1T } 1T
&l O
S
o
4
w L
BRI FER Dimensions (mm) Bl & B8 % Slide bush
il h E W L F nmM e B € S L i - oasiciiifig Weight
Type ! Designation %ﬁ%] ?fNJ (g)

SBR 10UV 15 18 36 32 24 6 80" 25 20 M5 10 7 LM10UU-OP 372 549 65

SBR12UU 17 20 40 39 276 85 80° 28 26 M5 10 8 LM12UU-OP 510 784 100
SBR 13UU {17 20 40 i | ey [ 80" 28 26 M5 10 8 LM13UU-OP 510 784 100
SBR 16UU 20 225 45 45 33 10 80° 32 30 M5 12 9 LM16UU-OP 774 1180 150
SBR 20UU 23 24 48 50 39 10 60° 35 35 M6 12 11 LM20UU-OP 882 1370 200
SBR 25UU 2 30 60 65 47 115 50° 40 40 M6 12 14 LM25UU-OP 980 1570 450
SBR 30UU i) 35 70 70 56 14 50° 50 50 M8 18 15 LM30UU-OP 1570 2740 630
SBR 35UU 37 40 80 80 63 16 50° 55 55 Ma 18 18 LM35UU-OP 1670 3140 925
SBR40UU 42 45 90 90 72 19 50° 65 65 M10 20 20 LM40UU-OP 2160 4020 1330
SBR 500U 53 60 120 110 92 23 50° 94 80 M10 20 25 LM50UU-OP 3820 7940 3000

SBR 16LUU 20 225 45 85 33 10 80" 32 60 M5 12 9 LM16LUU-OP 1548 2360 300
SBR 20LUU 23 24 48 96 39 10 60° 35 70 M6 12 11 LM20LUU-OP 1764 2740 400
SBR 25LUU 27 30 60 130 47 115 50° 40 100 M6 12 14 LM25LUU-OP 1960 3140 900
SBR 30LUU 33 35 70 140 56 14 50° 50 110 M8 18 15 LM30LUU-OP 3140 5480 1260
SBR40LUU 42 45 90 175 72 19 50° 65 140 M10 20 20 LM40LUU-OP 4320 8040 2660

SHAC 214



EfRBEETERARI

TBR...UU TBR...LUU

E
w
== J0.2
E=0.02 ; A=s
AL
S il
S T
+H
-
Tl e R+ Dimensions (mm) RAHMMESIdebush o
Support  Shaft B i RIgE o BERBE . Weight
Tupa  imenpions SIHEER| e aun ) W0 ) B | S RS B EH (6 (8 Type aypline  ofhe  (g)
TBR16UU  $16 392 490 62 26 8 42 M5 50 30 31 18  LM16UU-OP 392 490  0.18
TBR20UU  $20 784 1176 68 31 10 51 M6 54 37 34 21 LM20UU-OP 784 1176 0.30
TBR25UU 625 1568 2352 82 41 12 65 M8 65 50 41 28  LM25UU-OP 1568 2352 0.60
TBR30UU  $30 1764 2940 91 48 12 75 M8 75 60 455 335 LM30UU-OP 1764 2940 0.90
TBR16LUU 16 780 980 62 26 8 85 M5 50 60 31 18 LM1BLUU-OP 392 490 0.36
TBR20LUU 620 1568 2352 68 31 10 96 M6 54 70 34 21 LM20LUU-OP 784 1176  0.60
TBR25LUU 925 3136 4704 82 41 12 130 M8 65 100 41 28 LM25LUU-OP 1568 2352 1.20
TBR 30LUU $30 3528 5880 91 48 12 140 M8 75 110 455 33.5 LM30LUU-OP 1764 2940  1.80

218



EfRBEEITARERI

SCS...UU SCS...LUU

L
C+0.2
> T I
v it it
- L 18
- BRI
| |
1 T
K I;N 0.2 p. 4-91
| +
= | 5
Hoo | I u | u g 8
£ (=]
¢ o 4_14 ( ‘ ‘JrH‘ p
— F————L
L] @
- lll
i
Ex0.02 | _ s
@A gE FER Dimensions (mm) Fii & B 448 7 Slide bush
Unit ﬁgﬁ Ba%ﬁo% urﬁing Weight
r h E w L I G B c K S1 82 [ B . .

Type ' Designation e ofe  (9)
SCse6UU 6 9 15 30 25 18 15 20 15 5 M4 3.4 8 LMBUU 206 265 34
SCS 8UU 8 11 17 34 30 22 18 24 18 5 M4 3.4 8 LM 8UU 274 392 52
SCS10UU 8 i 20 40 35 26 21 28 21 6 M5 4.3 12 LM 10UU 372 549 92
SCs12UU 8 15 21 42 36 28 24 305 26 575 M5 4.3 12 LM 12UU 510 784 102
SCS 13UU 8 15 g 44 39 30 245 33 26 55 | Mb 4.3 12 LM 13UU 510 784 120
SCS 16UU 9 19 25 50 44 38.5 32.5 36 34 T M5 4.3 12 LM 16UU 774 1180 200
SCS 20UU " 21 27 54 50 41 i 40 40 i M6 i 12 LM 20UU 882 1370 255
SCS 25UU 12 26 38 76 67 51.5 42 54 50 1 M8 7 18 LM 25UU 980 1570 600
SCS 30UU 15 30 39 78 72 59.5 49 58 58 10 M8 T 18 LM 30UU 1670 2740 735
SCS 35UU 18 34 45 90 80 68 54 70 60 10 M8 i 18 LM 35UU 1670 3140 1100
SCS 40UU 20 40 51 102 90 78 62 80 60 11 M10 8.7 28 LM 40UU 2160 4020 1590
SCS 50UU 25 52 61 122 110 102 80 100 80 1 M10 8.7 25 LM 50UU 3820 7940 3340
SCS 60UU 30 58 66 132 122 114 94 108 90 120 | M12 [10.7 25 LM 60UU 4700 10000 4270
SCSsS8LUU ikl s 34 58 22 18 24 42 b M4 3.4 8 LM 8LUU 274 392 94

6
SCS 10LUU 8 13 20 40 68 26 21 28 456 6 M5 43 12 LM 10LUU 372 549 147
SCsS12LUU 8 et | o2k 42 70 28 24 305 50 5675 M5 43 12 LM 12LUU 510 784 220
SCS 13LUU 8 15 22 44 75 30 245 33 50 55 M5 43 12 LM 13LUU 510 784 245
SCS 16LUU 9 19825 DONNE S5HINCE 5 F 525 e SEN 6 () 7 M5 43 12 LM 16LUU 774 1180 376
SCS 20LUU 11 21 27 54 96 41 35 40 70 T M6 52 12 LM 20LUU 882 1370 476
SCS 25LUU 12 26 38 76 130 51.5 42 54 100 11 M8 7 18 LM 25LUU 980 1570 1115
SCS 30LUU 15 30 39 78 140 59.5 49 58 110 10 M8 7 18 LM 30LUU 1570 2740 1375
SCS 35LUU 18 34 45 90 155 68 54 70 120 10 M8 7 18 LM 35LUU 1670 3140 2200
SCS 40LUU 20 40 51 102 175 78 62 80 140 11 M10 87 25 LM 40LUU 2160 4020 3200
SCS 50LUU 25 52 61 12200 215] 102 8 80 100 160 11 M10 8.7 25 LM 50LUU 3820 7940 6720
SCS 60LUU 30 58 66 132 240 114 94 108 180 12 M12 107 25 LM 60LUU 4700 10000 8510

SHAC 216



-
' L
-
- S
[ -
r \
E+0.05 |
P
|
. .
" e e ol NE
(=]
P
+H
< !
|
R
iy
L
I
W
bz tik & R~ FE R Dimensions (mm) TR et 4 58
Support Shaft Locking Clamping  Weight
Type Demensions E w L E G R B S Bolt Bolt (g)
SK 8 8 20 21 42 14 328 6 18 32 8BS M4 M5 24
SK10 10 20 21 42 14 32.8 6 18 32 55 M4 M5 24
SK12 12 23 21 42 14 375 6 20 32 5.5 M4 M5 30
SK13 13 23 21 42 14 37.5 6 20 32 5.5 M4 M5 30
SK16 16 27 24 48 16 44 8 25 38 o5 M4 M5 40
SK20 20 KN 30 60 20 51 10 30 45 6.6 M5 M6 70
SK25 25 35 35 70 24 60 12 38 56 6.6 M6 M6 130
SK30 30 42 42 84 28 70 12 44 64 9 M6 M8 180
SK35 35 50 49 98 32 82 15 50 74 1 M8 M10 270
SK40 40 60 57 114 36 96 15 60 90 1 M8 M10 420
SK50 50 70 63 126 40 120 18 74 100 14 M12 M12 750
SK60 60 80 74 148 45 136 18 a0 120 14 M12 M12 1100

217



ERBH}ETAREARS

SHF...A

E
T
Lo
FE R Dimensions (mm) HEEE R
il é!ﬂgr Designation Designation W%ight
Type DIAMETER of clamping of mounting (g)
w L T i G B S bolt bolt
SHF 3 3 43 10 5 24 20 32 55 M4 M5 13
SHF 4 4 43 10 5 24 20 32 5.5 M4 M5 13
SHF 5 5 43 10 @ 24 20 32 515 M4 M5 13
SHF 6 6 43 10 5 24 20 32 5.5 M4 M5 13
SHF 8 8 43 10 3 24 20 32 5.5 M4 M5 13
SHF 10 10 43 10 5 24 20 32 5.5 M4 M5 13
SHF 12 12 47 13 7 28 25 36 55 M4 M5 20
SHF 13 13 47 13 7 28 25 36 5.5 M4 M5 20
SHF 16 16 50 16 8 31 28 40 55 M4 M5 2y
SHF 20 20 60 20 8 37 34 48 7 M5 M6 40
SHF 25 25 70 25 10 42 40 56 7 M5 M6 60
SHF 30 30 80 30 12 50 46 64 9 M6 M8 110
SHF 35 35 92 35 14 58 50 72 12 M8 M10 380
SHF 40 40 102 40 16 67 56 80 12 M10 M10 510
SHF 50 50 122 50 19 83 70 96 14 M12 M12 890
SHF 60 60 140 60 23 95 82 112 14 M12 M12 1500

SHAC 215



SBR EE&

*SBRE Z BB R
i &
my R
Type Shaft
Dime
nsions
SBR10 ¢10 16
SBR12 $12 17
SBR13 613 17
SBR16 ¢16 20
SBR20 20 225
SBR25 25 27.5
SBR30 $30 30
SBR35 435 325
SBR40 40 37.5
SBR50 ®50 47.5

SBRAXBURERENZARE

h B
18 32/30
20.46 34/32
21 34/32
25 40
27 45
33 55
37 60
43 65
48 75!
62 95

13.5
15
15

17.8

1k
21

22.8

26.6

29.4

38.8

FU3% Type  SBR10 SBR12 SBR13
150

REKE
L

P

BRAKE

250

550

850
15

100

4000

150
250
550

850
15

100

4000

150
250
550

850
15

100
4000

T F
4 124
45 15
45 15
5 185
5 19
6 215
7 265
8 28
9 38
11 45

SBR16
190
340
640
940
20
150
6000

X

o o @ D

10.3
13
16
20

SBR20 SBR25

340
640
940

1240
20

150
6000

BiEmARETHE, FUEBRERXSHRERH,
SB10SB12SB13 R~TR4¥R~, UEBHBESRREE.

219

FE R~ Dimensions (mm)

N C ]

8.9 22/20 60°/80°
9.8 25/22 60°/80°
9.8 25/22 60°/80°
117 30 60°/80°
10 30 60°/50°
12 35 60°/50°
13 40 60°/50°
15.56 45  60°/50°
17 55 60°/50°
21 70 60°/50°

250 450
450 850
850 1250
1250 1450
25 25
200 200
6000 6000

Sh a1
$45 5
$45 5
$45 5
55 6
$5.5 6.5
$6.6 6.5
$6.6 8.5
$9 8.5
$9 85
¢11 125

SBR30 SBR35

460
660
860

1060
30

200
6000

az

8.5
8.5
8.5
9.5
11

11

14
14
14
19

4.5
4.5
5.5
5.5
66
6.6

11

BE
Weight
(g)

1.10
1.40
1.55
2.56
3.50
5.30
738
9.68
1260
20.46

SBR40 SBR50

460
660
860
1060
1260
30

200
6000

470
670
870
1070
1270
35

200
6000



TBR EE#

*TBRE X HEHR
i 7 FE R~ Dimensions (mm)
U5 R~ EE
Type Shaft Weight
Dime E h B H ] X C } S1 ai a2 d1 (g)
nsions
TBR16 $16 25 22.14 50 14.84 6 8 37 60°/60° $5.5 6 9.5 5.5 2.56
TBR20 420 275 29.01 55 19.64 8 8 40 60°/50° $5.5 6.5 11 6.6 4.23
TBR25 425 325 3197 65 20 10 8 45 60°/50° $6.6 6.5 11 6.6 5.85
TBR30 430 37.5 3652 75 2228 12 10.3 55 60°/50° $6.6 8.5 14 9 8.28

+TBREFTHEHNEZERENREARE

B Type TBR16 TBR20 TBR25 TBR30

190 340 250 450

K 340 640 450 850
- 640 940 850 1250
940 1240 1250 1450

N 20 20 25 25

P 150 150 200 200
BAKE 6000 6000 6000 6000

BRSEAREMHE, FUBARXSTARERE,

SHAC 220



BHEERSH (XH#H) R

FERi&:

BEMEAESEHEE TEEZERANTREBEA. BRCHE., SER, BETOR,. FRRESF. B9
BARETXEBDRSE. ANETENRE, ETEREEFERFNERASS.

##l: GCr15 SUS440C
@E. HRC62+2 (SUS440C: HRC58)

BE: g6
HEEE: 7~#i80.8~0.3mm

SME. 3~120 (GCri5)

EHRE: 100mm~3010mm (6000mm is available )
BHE: 100mmAEi@5 um
B E:A#iB3.0pm ( Rmax)

W (D)E(CF) S 25 - 500L

3~40 (SUS440C)

EEEE
o ATRBL(BIME &25mm)
HE
i
BEE
l— HRC62 +2
REWEE @/ ~ %;/
Q)
[=]
BE fEEm ERRE (nm)

H7E il R B
(mm)|  ag s g6  |100{200[300/400500]600| 700{800|900 1000}t 200|1500(180020002500000135004000) H-REHE (kgt/m)
3 3 | s3 | -2~8 0.06
4 4 | s4 S,
5 5 S5 | -4~-12 1.0 |0.15
[} 6 S6 023
8 0.40

8 S8 | . .4
10 | 10 | s10 R | 0.62
12 12 S12 1.0 | o.89
13 13 s13 | -6~-17 104
16 16 S16 % 1.58
i
20 | 20 | s20 T1.5=F 2.47
25 ey 525 | -7~-20 3.85
30 30 S30 FTF Hing
35 | 35 | s35 e
40 40 S40 | -9~-25 b 9.87
50 50 S50 2.5 15.4
60 60 S60 22.2
-10~-29
80 80 S80 39.5
FHF
100 100 61.7
$100) ., ., 7
120 120 S120 88.8
150 150 S150| -14~-39 139.0
E LEHE B ATMEHSAENKE, 2. T AR #4555 . 20CrMo. 40CrMoSH R~ & o

221



EARATBIEREEREOSMM ~ & 150mm, B X & E FIE6000mmi S B E &,
1. BEERELEBHELRE, RAFWRESAARENMIESR, EEERREATE000mmEF, RMEMUBEHEE. (REa)

We can offer linear shaft with diameter $5mm~$150mm, maximum length up to 6000mm.
1. When you are special requirements on length, we can meet your machining requirements with different length; when you
request above 6000mm, we can anti-connect for you. (shown in Fig a)

DUOURNNNNN

A .
¥ F‘.{'ﬁ""

F&4E Dowet joint f5#E Dowet joint

£ BUtted joint

BROEREEDE

Threaded and ground joint

2. BEHEMBEHHOMIERET MERL. HRATI. HEE. CRT. ERGHS. RMSTUBREHRNTI, FAEEY
BMIZAEMREEERETAN, BERRETERNFE. FNEEAXHERNAERFHRMIEREREM, RMNBRBESE

WEM.

2. When you are special requirements on machining, such as threading, coaxial holes drilled and tapped, radial holes drilled and
tapped, reduced shaft diameter etc, we can machine for you, and these special machines are finished after heat treatment and
hard chromic so that ensure the precision of product. send us your detailed sketch or blue print for propmt quotatine and action,

your should be satisfied with our service.

#5477l COAXIAL HOLES DRILLED AND TAPPED

g KEY WAY

18 m3T7. RADIAL HOLES DRILLED AND TAPPED

il —E ) £ 1& FLATS - SINGLE OR MULTIPLE

o

BB SNAP RING GROOVES

ol

E {8 f§ CHAMFERING

SHAC 222




PR U2 3 528 22 45 Ui 67 1) B0 7

Rod radial end bearing

WARMATRANMHAT, BUAEL. G259

Bearings with a stretching rod,stretching rod with right
or left-hand female thread.

SMEB EMEE F R,

The surface of spherical plain with a bronze liner.

iR REEE, FHERILEBIF,

To plate zinc on the surface of rod body,the housing

with a lubrication hole or a grease nipple.

it i

Type

PHS
PHS
PHS

PHS

PHS

PHS

PHS

PHS

PHS

PHS

PHS

PHS

PHS

5

6

8
10
12
14
16
18
20
22
25
28
30

5
6

10
12
14
16
18
20
22
25
28
30

ds

M5x0.8
M6 X1
M8 1.25
M10X1.5
M12x1.75
M14x2
M16x2
M18x1.5
M20x1.5
M22:x1.5
M24 %2
M27 %2
M30x2

e
14
16
19
21
23
25
28
31
35
i

C1

max

6
6.75

10.5
i

13.5
15

16.5
18
20
22
24
25

R 5F Dimensions (mm)

w

11
14
17
19
22
24
27
30
32
36
41
48

I3
min

14
14
17
21
24
27
33
36
40
43
48
53
56

dz

max

18
20
24
26
30
34
40
44
48
54
60
66
70

L4

max

36

40

48

56

65

74

84

93
101
111

124
136
145

B
<C1,
Ms

! dk
d{ d &1

/iK \{/

i 13

da !

W

Is da  ds

h max max max dk
i 4 A58 1 11.11
30 10 13 12.7
36 5 2050 TR 15.875
43 6.5 15 19 19.05
SO A5 TR P2 22.225
57 8 20 26 25.4
64 8 22 28 28.575
71 10 25 31 3175
AT 108275 a5 34.925
84 12 30 38 38.10
94 1293315 42 42.85
103 14 3T 46 47.6
110015 40 50 50.8

EHRLNERA, WRZSEIRAERZEM ‘L f1 “£” , #l: PHSL18 M18x1.5%4-6H
For left-hand thread,suffix[]?is added to bearings number and thread sign,e.g.PHSL18 M18x 1.5L-6H.

223

h

Is

BREKN

Load ratings
« L ¥ B
el | kel |k | )
9 13 430 7.20
104 4 7.20 11.60
129 13 10.0 145
15.4| 13 1134 17.0
16.9 16 17.0 24.0
19.4| 15" 21.6 | 285
219 15 26.0 425
244 14 315 425
258 5 38.0 57.0
296 5 | 475 | 68.0
323 5 58.0 750
34.8 17 64.0 88.0

HE
Weight
=kg
0.016
0.022
0.047
0.077
0.10
0.16
0.22
0.32
0.42
0.54
0.73
0.98
1.1



5} U5 0 5 22 4% i (6 BT 0 K

Rod radial end bearing

R B AR AR R AT, BAEE. B2
Bearings with a stretching rod,stretching rod with right
or left—-hand male thread.

HMEENEME BRI,

The surface of spherical plain with a bronze liner.
FinleREES, HEHBHFALILMT,

To plate zinc on the surface of rod body,the housing
with a lubrication hole or a grease nipple.

B
C1
j Ms
dil d k| d
& &
, I2
i 11
ds
. - B f7KN
7 ok R =t Dimensions (mm) Load ratings BEE
o Weight
Ci1 11 dz I2 Ms a
Type d ds B max min max h max dk min a~ dt %’J éﬁo =kg
POS 5 5 M5x0.8 8 6 20 18 33 Ml 2 11.11 0.3 13 0|7 25185 7 80 013
POS 6 6 M6 X1 9 675 23 20 36 46 12.7 0.3 13 89 430 7.2 0.020
POS 8 8 M8x1.25 12 9 25 24 42 54 15.875 0.3 e s | e | i | @D
POS 10 10  M10x1.5 14 105 30 26 48 61 19.05 03 13 12.9 10.0 14.5 0.055
POS 12 12 M12X1.75 16 12 34 30 54 69 22.225 020 1a 15 4 13 4 817 08 0085
POS 14 14 M14x2 19 135 37 34 60 7 25.4 03 16 16.8 17.0 24.0 0.14
POS 16 16 M16x2 21 15 41 40 66 86 28.575 o2 b5 F18.30 216 285 |0 21
POS 18 18  M18x%1.5 23 165 45 44 72 94 31.75 0.3 15 218 26.0 425 028
POS 20 20 M20%1.5 25 18 48 48 78 102 34.925 0.3 11 E2aniiais Ao s Iaas
POS 22 22 M22x1.5 28 20 52 54 84 111 38.10 0.3 15 258 38.0 57.0 048
POS 25 25 M25 % 2 31 22 58 60 94 124 42.85 0.3 15 1 F 2850 a7 5 8 68 00 N0I64
POS 28 28 M28x2 35 24 63 66 103 136 47.6 03 15 337 580 755 0.96
POS 30 30 M30x2 37 25 67 70 110 145 50.8 i | g | RELGE | GELGY | GhEE |

ERAMBA, WMANEMELFELEM “L” 1 “A” , #ln:. POSL8 M84-6g
For left-hand thread,suffix(]?is added to bearings number and thread sign,e.g.POSL8 M8L-6g

SHAC 224



P % B &8 15 il 78 B 8 7

Rod radial end bearing

WAMAERIBANMEHT, BAUAEL. AEZS.
Bearings with a stretching rod,stretching rod with right
or left-hand female thread.

B B iR R w0 B H Eh AR A AT IR AR AR e T AR

Itis made up of a maintenance-free spherical-plain
radial bearing and rod body.

HFinlEREES, NEREHER.

To plate zinc on the surface of rod body,Spherial

surface of inner with chromium plating. e B
Gy
5
d| ke
a
I3
ds
W
g R =f Dimensions (mm)
Type d ds w B Ci h d l4 5 da
max max max max max
PHSA 3 3 M3x0.5 5.5 6 4.5 21 12 iy d = 5
PHSA 4 4 M4:<0.7 8 7 53 24 14 31 . 7.8
PHSA 5 5 M5x0.8 9 8 6 27 18 36 4 8.5
PHSA 6 6 M6 1 1 9 675 30 20 40 5 10
PHSA 8 8 M8>1.25 14 i 9 36 24 48 5 125
PHSA 10 10 M101.5 17 14 10.5 43 28 57 6.5 15
PHSA 12 12 M12:x1.75 19 16 12 50 32 66 65 17.5
PHSA 14 14 M14x2 22 19 135 57 36 75 8 20
PHSA 16 16 M16x<2 24 21 1= 64 40 84 8 22
PHSA 18 18 M181.5 27 23 165 71 44 93 10 25
PHSA 20 20 M2031.5 300 I 25 IR 6 W B 278 Lo N O 8o 7 5
PHSA 22 22 M2231.5 32 28 20 8 54 111 12 30
PHSA 25 25 M24x2 36 31 22 | 94 80 @ 124 | 12 335
PHSA 28 28 M27x2 41 35 24 103 66 136 14 37
PHSA 30 30 M30x2 4008 37 o5 B0 N0 B 1450 5 A

225

ds

12

dk

11.11
12.7
15.875
19.05
22.225
25.4
28.575
31.7
34.925
38.10
42.85
47.6

50.8

I3
min

10
12

12
15
18
21
24
27
30
32
36
41
45

f h
: s
da
ds
Loiﬂﬁgmgs i.i
a m - Weight
~ C Co =kg
1.8 3.58 0.006
3.234 4.9 0.009
13 3.25 i) 0.016
13 4.30 720 0.022
14 7.20 11.6 0.047
13 10.0 14.5 0.077
13 13.4 17.0 0.10
16 17.0 24.0 0.16
15 21.6 28.5 0.22
15 26.0 42.5 0.32
14 31.5 42.5 0.42
15 38.0 B0 0.54
15 47.5 68.0 (1T
15 55.0 755  0.82
97 64.0 88.0 1.10



N IR B R R 1R i 8 B 8

Rod radial end bearing

WAMERBANMEHT, BRUAEL. AEZS.
Bearings with a stretching rod,stretching rod with right
or left-hand female thread.

B B iR e 0 B i AR AN A i AR AR ST A

Itis made up of a maintenance-free spherical-plain
radial bearing and rod body.

HinfeREEF, ABREER.

To plate zinc on the surface of rodend,Spherial of inner

with chromium plating.
d
l2
. . BTTKN
itk R <f Dimensions (mm) Load ratings BE
L] Weight
C1 1 d2 I7 P rs a

Type d ds B max min max min h max dk min P !c)? éﬁé) =|(g
POSA 3 3 M3x0.5 6 4.5 15 12 27 33 - - - 1.8 3.528 0.006
POSA 4 4 M4x0.7 i 5.3 17 14 30 37 - - - 3.24 4.9 0.009
POSA 5 5 M5x0.8 8 ] 19 18 33 42 ks 0.3 13 3.25 3.10 0.013
POSA 6 6 M6<1 9 6.75 21 20 36 46 127 0.3 13 4.30 4.40 0.020
POSA 8 8 M8 1.25 12 9 25 24 42 54 15.875 0.3 14 7.20 8.00 0.038
POSA 10 10 M10x1.5 14 10.5 28 28 48 62 19.05 0.3 13 10.0 12.9 0.055
POSA 12 12 M12x1.75 16 12 32 32 54 70 22.225 0.3 13 13.4 17.0 0.085
POSA 14 14 M14x2 19 13.5 36 36 18 60 78 25.4 0.3 16 17.0 24.0 0.14
POSA 16 16 M16x2 21 15 37 40 23 66 86 28.575 0.3 15 21 6 28.5 0.21
POSA 18 18 M18%1.5 23 16.5 41 44 25 72 95 31.75 0.3 15  26.0 425  0.28
POSA 20 20 M203x%1.5 25 18 45 48 26 78 102 34.925 0.3 14 315 42.5 0.38
POSA 22 22 M22%1.5 28 20 48 54 29 84 11 38.10 0.3 15  38.0 57.0  0.48
POSA 25 25 M24 %2 31 22 55 60 32 94 124 42.85 0.3 15 47.5 68.0 0.64
POSA 28 28 M27 %2 35 24 62 66 34 103 136 47.6 0.3 15 55.0 75.5 0.80
POSA 30 30 M30 %2 37 25 66 70 37 110 145 50.8 0.3 1T 64.0 88.0 1.1

BV, SRIENIELEREM L 1 “£” , filin: SAL8T/K M8%E-6g
For left-hand thread,suffix(]?is added to bearings number and thread sign,e.g.SAL8T/K M8L-6g

SHAC 226



15 iy (59 577 B 75
Rod ends SI..E(S),SI..ES 2RS
R AR A R P ARA

-G EB AN EL OB i ERGE..E (S ) BGE..ES 2RS#H M.
-FrinfeR Mg, SI.ESEFIRIAHEMBmMILERT,

—Rod body with righe or left-hand

female thread. I B —

—It is made up of a radial spherical cl, oda2

plain bearing GE ..E(S)or GE..ES ! :

2RS and rod body.

—Surface of rod body zinc plated , i

housing of SI..ES with a d| R de

lubricating hole or grease nipple. ] ' ke

ol L4
h1
L3 i
f &
- d3. Aﬂ
w d5
. R~fmm AT
ki (Dimensions) Load ratings -
Type B &kg
d ga B C1 rLEin W d2 h1 L4 L5 d4 d5 dk @ @dync gstatc. Weight

SI5E* 5 M5*0,8 6 45 11 11 21 30 42 5 10 13 10813 3,4 8,1 0,016
SIBE* 6 M6*1.0 6 45 1N 1 21 30 405 5 10 13 10 13 3.40 8.15 0.021
SIBE* 8 M8*1.25 8 60 15 14 24 36 48 5 (125 | 18 13515 5.50 12.9 0.039

SI10E” 10 M™M10*1.5 9 7.0 20 17 29 43 57.5 6.5 15 19 16 12 8.15 17.6 0.061
SI2E* 128 MI25 175 10 8.0 23 19 34 50 67 6.5 175 22 18 11 10.8 245 0.096
SI15ES 15  M14*2.0 12 10 30 22 40 61 81 8 21 26 22 8 17.0 36.0 0.180
SI17ES 17 M16"2.0 14 1 34 27 46 67 90 10 24 30 25 10 21.2 45.0 0.220

SI20ES 20 M20".5 16 13 40 32 53 77 1035 10 275 35 29 9 30.0 60.0 0.350
SI25ES 25 M24*2.0 20 17 48 36 64 94 126 12 335 42 355 7 48.0 83.0 0.640
SI30ES 30 M30*2.0 22 19 56 41 73 110 146.5 15 40 50 407 6 62.0 110 0.930
SI35ES 35 M36*3.0 25 7| 60 50 82 125 166 15 47 58 47 6 80.0 146 1.30
SI40ES 40 M39*3.0 28 23 65 55 92 142 188 18 52 65 53 7 100 180 2.00
SI45ES 45 M42*3.0 32 27 65 60 102 145 196 20 58 70 60 7 127 240 2.50
SI50ES 50 M45*3.0 35 30 68 65 112 160 216 20 62 75 66 6 156 290 3.50
SIBOES 60 M52*3.0 44 38 70 75 135 175 2425 20 70 88 80 6 245 450 5.50
SI70ES 70 M56*4.0 49 42 80 85 160 200 280 20 80 98 92 6 315 610 8.60
SIB0ES 80 M64*4.0 55 47 85 100 180 230 320 25 95 110 105 6 400 750 12.0

—BEAHERAL, BAARBUSEFEM "L , it SIL30ES,
~BRFLIEd = 15 AT HIiE2RSHHE, Hlm: SI25ES 2RS,
— T BV AL FL AR

~For left-hand thread,please add surffix “L" ,e.g.sil 30es.

—For bearings d=15 ,SI..ES 2RS also available,e.g.SI 25 ES 2RS.
~Lubricating hole or grease nipple isn’ t available for the sizes marked “*”

227



15 iy (59 577 B 75
Rod ends SA..E(S),SA..ES 2RS
A IS A A R PR

- R BN O B B # A GE..E ( S ) =(GE..ES 2RS#H M-
—-FinBEREER, SI.ESETIRMEE MR mILERT,

—Rod body with righe or left-hand

female thread.

—It is made up of a radial spherical

plain bearing GE ..E(S)or GE..ES

2RS and rod body.

—Surface of rod body zinc plated ,

housing of SI..ES with a lu bricating hole or grease nipple.

L2
h
L
ds
R~fmm an
idhid (Dimensions) Load ratings -
Type - d3 B ¢1 LI d2 h L2 dk Ris % Bdync #statc i-;;f?t
6H min = ’ o
SASE* 5 M5*0.8 6 4.5 16 21 36 46,5 10 0,3 13 3,40 8,1 0,011
SABE* 6 M6*1.0 6 44 18 21 36 465 10 0.3 13 3.40 8.15 0.017
SABE* 8 M8*1.25 8 22 24 42 54 13 | 0.3 | 15 5.50 12.9 0.029
SA10E* 10 M10*1.5 9 7 26 29 48 62.5 16 0.3 12 8.15 17.6 0.051
SA12E* 12 Mil251%75 10 8 28 34 54 71 18 0.3 11 10.8 245 0.086
SA15ES 15 M14*2.0 12 10 34 40 63 83 22 0.3 8 17.0 36.0 0.140
SA17ES 17 M16*2.0 14011 36 46 69 92 ey | (sl | ] 21.2 45.0 0.190
SA20ES 20 M20*1.5 16 13 43 53 78 1045 29 06 9 30.0 60.0 0.310
SA25ES 25 M24*2.0 20 17 53 64 94 126 355 0.6 7 48.0 83.0 0.560
SA30ES 30 M30*2.0 22 19 65 73 110 146.5 40.7 0.6 6 62.0 110 0.890
SA35ES 35 M36*3.0 25 21 82 82 140 181 47 0.6 6 80.0 146 1.40
SA40ES 40 M39*3.0 28 23 86 92 150 196 53 06 7 100 180 1.80
SA45ES 45 M42*3.0 32 27 94 102 163 214 60 06 7 127 240 2.60
SAS0ES 50 M45%3.0 35 30 107 112 185 241 66 0.6 6 156 290 3.40
SAB0ES 60 M52*3.0 44 38 115 135 210 2775 80 1.0 B 245 450 5.90
SAT0ES 70 M56%4.0 49 42 125 160 235 315 92 10 6 315 810 8.20
SAIB0ES 80 M64*4.0 55 47 140 180 270 360 105 1.0 6 400 750 12.0

~ERANTRAL, BRBERFEM “L” , flf: SAL30ES,
—$ARFLIBd= 15t AT BIiE2RSEEHE, iin: SA25 ES 2RS,
A MBS B FL IR AT

—For left-hand thread,please add surffix “L” ,e.g.sAl 30es.

—For bearings d=15 ,SI..ES 2RS also available,e.g.SA 25 ES 2RS.
~Lubricating hole or grease nipple isn’ t available for the sizes marked “*”

SHAC 223



ERBOLEEEME (EERI)

Spherical plainradial bearing

ShEH—E R E A

Outer ring with single spit in axial direction
ESEp., SEFHBRE, ML

Lubrication grooves and holes in the outer and inner rings of type ES

-2RSE! M | = & i B
Quter ring of type —2RS with two seals

FHREBLRE

Both outer and inner rings are properly phosphorlyate-treated

GE4E
GESE
GEBE
GESE
GE10E
GE12E
GE15ES
GE17ES
GE20ES
GE25ES
GE30ES
GE35ES
GE40ES
GE45ES
GES0ES
GEBOES
GE70ES
GEBOES
GES90ES
GE100ES
GE110ES
GE120ES
GE140ES
GE160ES
GE180ES
GEZ00ES
GE220ES
GE240ES
GEZ260ES

229

RUSE
Type

GE15ES-2RS
GE17ES-2RS
GE20ES-2RS
GE25ES-2RS
GE30ES-2RS
GE35ES-2RS
GE40ES-2RS
GE45ES-2RS
GES0ES-2RS
GEBOES-2RS
GE70ES-2RS
GEBOES-2RS
GE90ES-2RS
GE100ES-2RS
GE110ES-2RS
GE120ES-2RS
GE140ES-2RS
GE1B60ES-2RS
GE180ES-2RS
GEZ00ES-2RS
GE220ES-2RS
GE240ES-2RS
GEZ260ES-2RS

@D g B

10
12
15
o
20
25
30
35
40
45
50
60
70
80
90
100
110
120
140
160
180
200
220
240
260

R = Dimensions (mm)

D

12
14
14
16
19
22
26
30
35
42
47
55
82
68
75
90
105
120
130
150
160
180
210
230
260
290
320
340
370

B

@@ O O O

19
14
16
20
22
25
28
32
35
44
49
55
60
70
70
85
90
105
105
130
135
140
150

100
100
100
110

d1 min

10
13
15
18
20
24
29
34
39
45
50
55
86
77
88
98
109
120
130
150
170
192
212
238
265
285

HEAT

Load ratings

5 B
Dynamic Static

2
3.4
3.4
5.5
8.1
10
17
21
30
48
62
80
100
127
156
245
315
400
490
610
655
950
1080
1370
1530
2120
2320
2550
3050

10
17
17
27
40
54
85
106
146
240
310
400
500
640
780
1220
1560
2000
2450
3050
3250
4750
5400
6800
7650
10600
11600
12700
15300

o

16
13
13
15
12
10

&
© o

=~ 0 0 ~N @ 0o N O 0 N 00 6000 0 O N N0~

=
=

Weight
(kg)

0.0033
0.0038
0.0042
0.0075
0.011
0.015
0.027
0.041
0.066
0.119
0.153
0.233
0.306
0.427
0.546
1.04
1.55
2.31
2.75
4.45
4.82
8.05
11.02
14.01
18.65
28.00
sindal
39.91
51.54



IAYM IYY Buneag jo uoneubiseq uay L ouUIUB238 YlIM AYY HY Saues jo Bulieeg NIHM ILON
CIAUM IUNBEERRIE (S VYR BETENSE AEM ‘UM CH

Z-0£40  AOBAMYN  060MYN  0S6} 000S 004€ 0€82 50 b L 6L €9 00L L& Z€ GLXOEW Of SE 06 0BAMM 064
L-0E40  AGBOMVN  S8QMVYN  OF.lL 000S 00.€ 0€8e S0 b L GL €9 00L L& ZE G LX0EW OfE SE G8 GBAYM 58U
0€40 AO8BAMYN  08OMYN  0SSL 000§ 00.€ 0€82 S0 L L Gl €9 00L LE ZE G LXOEW OE SE 08 0BAYM 08
L-v240  AZLOMYN  ZLOMYN  Ov0L 0059 oLez 09z ¥°0 I 80 LL S6F 108 908 GZ GLXVIW ¥Z 62 ZL ZLAYM zLE
¥240 AC9OMVYN  Z9OMYN 061 0059 oLez o9tz ¥0 L 80 LL S6y 108 908 SZ G IxXVZW v 6C 29 CONYM Z9uM
1-0240  AZSOMVN  ZSOMYN  LOF 0002 0691 0€91 SE0 b 80 6 GOr 199 962 LZ GILx0ZW 0Z ¥Z 25 CSAYM zZgul
0z49 ALVAXMYN  LPOMYN 98¢ 0004 0694 0€9l4 SE0 Ll 80 6 SO0v 199 9G2 Lz GILxX0ZW 02 ¥Z Lb LPAYM LyEd
8142 AOPAMVYN  OPAXMVYN  L¥Z 0058 o0zel 08LL SE0 I 80 8 S9¢ Z8S 912 6L SIxXBLAN 8L OZ OF OFAYM oFud
9140 ASEAMVYN  SEAMYN 691 0000} 092 058 SE'0 90 80 8 6S2 L2 96k LI GLX9LW 9L 8L SE SEAYM SEM
L-ZL40  AZEQMYN  ZEQMYN 06 000%1L oSt 065 €0 90 90 9 S ZOF TSk €L SIXZWW ZI vl ZE& TEAMM zZeu
ZL40 AOEAMYN  0EAMVYN 18 000} 0st 065 €0 90 90 9 SZ TOF TSk €L GLXZUWN 2L L 0E 0EAUM (o2
1-0L40  A9ZAMYN  9ZAMYN 8¢ 0004} 0zt oLy £0 €0 90 €2 T9¢ TEL 2L GZLXOLW 0L ZL 92 9ZAWM 9ZuM
0142 NCZTANVYN  ZZANVYN 44 0004} 0ze oLy €0 €0 90 €2 T9€ TEL T GZTIXOLW 0L 2+ 22 ZZAYM zee
840 AGLANYN  6LANYN :14 00002 0Lz 00¢g SZ0 €0 90 0Z 22 TZL 0L STILXSW 8 Ll 6L 6LAYM 61uM
940 AQLANVYN  9LONYN 8l 00052 0Ll 0.2 §zZ0 €0 90 9L z8z TTL 8 X9 9 L 91 9LAYM 9LuM
540 AELAMYN  €LAMNYN 9l 0006Z 081 08z G20 €0 SO s |eE | o) L BOXSW § 6 €L ELAYM ARTM]
o1els  olweulp ulw Xew xew
B | et Teomwd omwm | ¢ sl 2008 [EE gl Tg 0902090 B0t
uoneubisag uoljeubISap plo f SSBIN paddspospwry  Buljes peoj oiseg olUL209 Py
: : wuw ) uoisuawiq
WEON  Bumrr | BY FeeE 0 Gyzg B0 SLUNR

buiieaq Jajjol a1paaN

XL B 13 200 W 2 e 4

SHAC 230



S#HNEREBE RS

SGR/SGB
SR LA
| i
) . m
h LTJ 1] | o
N q ¥ [ E/2
D’ Ty
: L
L L1 ) ) L2

W e = B .

> 4-M4 ‘

' ° & ﬂ 1 Y © o © b
"Hi 8| [o@o| B [Po@o| B[

Y y

Y 1o o} L ') O —O o

< W > 1 2 3 1 2 4 2 3 4

ﬂ% H w H1 T B X L Cc L1 C1 L2 c2 P D h d HR
SGR/SGB/M0 | 23 28 14 8.5 185 | M4 47 | 185 63 30 80 40 60 6 3.3 34 £
SGR/SGB/M15N| 32 38 | 185 12 26 M5 60 26 80 26 100 26 120 8 55 4.5 e
SGR/SGB/15 | 32 46 | 185 12 32 M5 52 36 72 36 86 36 120 8 55 45 8
SGR/SGB/20N| 36 47 | 225 12 38 M6 80 30 104 30 130 30 120 | 95 5.5 4.5 8
SGR/SGB/20 | 36 60 | 225 12 50 M6 80 40 104 40 130 40 120 | 95 55 4.5 8
SGR/SGB/25 | 44 70 26 15 57 M8 100 | 45 130 45 160 45 120 11 6.5 6.5 9
SGR/SGB/35 | 56 100 35 18 82 M12 | 135 62 180 62 225 62 160 14 8 85 14
SGR/SGB/A0 | 98 148 70 25 115 | M14 | 245 | 150 200 23 16 16 25

231




SRR E RS

LGD #3
275 70 100
14 45 75
4-M§*12 J4-M6*8
& 4 &
- q 2 = I B T EE EEEEP -
@ @ @ @
67 y L
o o E f
17T
30
Blgk H w WR H1 T B I E L1 c1 M P D h d HR
LGD/6 29 60 26 26 12 38 60 40 100 | 75 | M5*3| 60 95 65| 55 | 178
LGD/8 33 67 30 275 | 14 45 70 45 100 75 |M6*12| 80 95 8 55 21
LGD/M2 39 80 36 35 12 54 100 76 140 | 116 [M6*12| 100 | 105 8 65 | 255
LGD/16 50 | 120 50 45 14 90 150 | 120 | 190 | 150 |M8*14| 80 14 10 8.5 33

SHAC 232



SEMEHBENINERAT

TAIWAN DINGHAN TRANSMISSION TECHNOLOGY CO.,LTD

rEtib St ENERZEH 2678255 E-@‘"ﬂ@
HESHAC
E%

BE:+886-523-502-90
E-mail:shac@shac.tw
#31lthttp://www.shac.tw SgETE



	封面2019.8.1Q_1.jpg
	封面2019.8.1Q_2.jpg
	封面2019.8.1Q_3.jpg
	样册 2019.8.1修改_79.jpg
	样册 2019.8.1修改_80.jpg
	样册 2019.8.1修改_81.jpg
	样册 2019.8.1修改_82.jpg
	样册 2019.8.1修改_83.jpg
	样册 2019.8.1修改_84.jpg
	样册 2019.8.1修改_85.jpg
	样册 2019.8.1修改_86.jpg
	样册 2019.8.1修改_87.jpg
	样册 2019.8.1修改_88.jpg
	样册 2019.8.1修改_89.jpg
	样册 2019.8.1修改_90.jpg
	样册 2019.8.1修改_91.jpg
	样册 2019.8.1修改_92.jpg
	样册 2019.8.1修改_93.jpg
	样册 2019.8.1修改_94.jpg
	样册 2019.8.1修改_95.jpg
	样册 2019.8.1修改_96.jpg
	样册 2019.8.1修改_97.jpg
	样册 2019.8.1修改_98.jpg
	样册 2019.8.1修改_99.jpg
	样册 2019.8.1修改_100.jpg
	样册 2019.8.1修改_101.jpg
	样册 2019.8.1修改_102.jpg
	样册 2019.8.1修改_103.jpg
	样册 2019.8.1修改_104.jpg
	样册 2019.8.1修改_105.jpg
	样册 2019.8.1修改_106.jpg
	样册 2019.8.1修改_107.jpg
	样册 2019.8.1修改_108.jpg
	样册 2019.8.1修改_109.jpg
	样册 2019.8.1修改_110.jpg
	样册 2019.8.1修改_111.jpg
	样册 2019.8.1修改_112.jpg
	样册 2019.8.1修改_113.jpg
	样册 2019.8.1修改_114.jpg
	样册 2019.8.1修改_115.jpg
	样册 2019.8.1修改_116.jpg


 
 
    
   HistoryItem_V1
   Splitter
        
     列：： 2
     行： 1
     重叠： 0.000000 points
     重叠到出血： 无
     仅将横向页分页： 无
      

        
     2
     1
     0
     0
     0.0000
     798
     299
    
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     1
            
                
         AllDoc
              

       CurrentAVDoc
          

      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

 HistoryList_V1
 qi2base





